ශී ලංකා පුජාතාන්තික සමාජවාදී ජනරජයේ ගැසට් පතුය The Gazette of the Democratic Socialist Republic of Sri Lanka

අංක 1,648 - 2010 අපේල් මස 01 වැනි බුහස්පතින්දා - 2010.04.01 No. 1,648 - THURSDAY, APRIL 01, 2010

(Published by Authority)

PART IV (B) — LOCAL GOVERNMENT

(Separate paging is given to each language of every Part in order that it may be filed separately)

		PAGE			PAGE
Posts - Vacants			Statements of Revenue & Expenditure		
Examinations, Results of Examinations, & c.			Budgets	•••	_
Local Government Notifications		414		•••	
By-Laws		_	Miscellaneous Notices	•••	425
Notices under the Local Authorities Elections O	rdinance	_			

IMPORTANT NOTICE REGARDING ACCEPTANCE OF NOTICES FOR PUBLICATION IN THE WEEKLY "GAZETTE"

ATTENTION is drawn to the Notification appearing in the 1st week of every month, regarding the latest dates and times of acceptance of Notices for publication in the weekly *Gazettes*, at the end of every weekly *Gazette* of Democratic Socialist Republic of Sri Lanka.

All notices to be published in the weekly *Gazettes* shall close at 12.00 noon of each Friday, two weeks before the date of publication. All Government Departments, corporations, Boards, etc. are hereby advised that Notifications fixing closing dates and times of applications in respect of Post-Vacancies, Examinations, Tender Notices and dates and times of Auction Sales, etc. should be prepared by giving adequate time both from the date of despatch of notices to Govt. Press and from the date of publication, thereby enabling those interested in the contents of such notices to actively and positively participate please note that inquiries and complaints made in respect of corrections pertaining to notification will not be entertained after three months from the date of publication.

All notices to be published in the weekly *Gazettes* should reach Government Press two weeks before the date of publication *i.e.* notices for publication in the weekly *Gazette* of 09th April, 2010 should reach Government Press on or before 12.00 noon on 26th March, 2010.

Lakshman Goonewardena, Government Printer.

Department of Govt. Printing, Colombo 08, January 01, 2010.

Local Government Notifications

COLOMBO MUNICIPAL COUNCIL

The Butchers Ordinance (Chapter 272)

NOTICE is hereby given under Section 7(2) of the Butchers Ordinance Chapter 272 that the persons mentioned in the Schedule herein under, have made applications to me for Licence to carry on the Trade of Butchers in the premises stated against their names in the Schedule aforesaid for the year, 2010.

Any person residing in the limits of the Colombo Municipal Council, who desirous to object to the issue of such licenses should furnish to me in duplicate within fourteen (14) days from the date of this *Gazette* Notification a written statement of the grounds of his or her objection for the issue of the licenses.

OMAR KAMIL, Chief City Administrator, Colombo Municipal Council.

Town Hall, Colombo 07, March, 2010.

SCHEDULE

Serial No.	Name of the Applicant	Stall No.	Nature of Trade
	Manning Market		
1	Delgahawaththa farm	821	Pork
2	Mr. N. M. Yoosuf	824	Beef
3	Mr. K. S. Fernando	825	Mutton
4	Mr. Z. K. M. Akram	826	Beef
5	Mrs. M. M. H. Kamarun Niza	827	Beef
6	Aziz and Sons	828	Beef
7	Mr. I. R. M. Ashroff	829	Beef
8	Mr. G. Rajanadan	830	Beef
	Borella Market		
9	Mr. O. H. M. Najimudeen	7/B/26	Beef
10	Mrs. H. B. Fausul Hinaya	7/B/29	Beef
11	Mr. S. Omar Kaththa	7/B/30	Beef
12	Mr. G. S. M. A. Razik	7/B/31	Mutton
13	Mr. S. Ayubkhan	7/B/37	Beef
14	Mrs. Nisa Begam	7/B/41	Beef
15	Mr. O. H. M. Nagimudeen	7/B/42	Beef
16	Mr. S. H. N. Raheem	7/B/43	Mutton
17	Mr. R. A. C. de Alwis	7/B/55	Pork
	Dematagoda Market		
18	Mr. S. M. Jawfar Khan	8	Beef
	Deens Road Market		
19	Mr. M. Y. O. M. Iqbal	44/03	Beef
20	Mr. M. N. H. Shanaz	44/05	Beef
21	Mr. S. H. Imithiyas Ahamad	44/06	Beef
22	Mr. M. S. M. Iqbal	44/08	Beef
23	Mr. N. M. Rapik	44/09	Beef
24	Mr. M. O. Abdul Cader	44/10	Beef
25	Mr. H. M. Mohamed Ali	44/11	Mutton

	Pail IV (B) - GAZETTE OF THE DEMOCRATIC SOCIA		1.04.2010
Serial	Name of the applicant	Stall No.	Nature of Trade
No.			
	Kollupitiya M		
26	Delgahawaththa Farm	01A	Pork
27	Mr. S. M. Subahulla	3	Mutton
28	Mr. S. B. Mohomed Irshad	4	Beef
29	Mr. M. G. Mohamed Rizvi	10	Beef
30	Mr. Unais	11	Mutton
			1.1400011
	Bambalapitiya		
31	Mr. N. M. S. Dawud	21	Beef
32	Mr. S. Sahishan	22	Beef
33	Mr. N. K. Mohomed	23	Mutton
34	Mr. S. O. M. Riyal	24	Beef
	Wellawaththa i		
35	Mr. M. N. M. Yoosuf	1	Mutton
36	Delgahawaththa Farm	1A	Prok
37	Mr. A. C. N. Mohomed	2	Beef
38	Mr. M. I. Nawabkhan	7	Mutton
39	Mr. A. W. S. Mohomed	8	Beef
40	Mr. H. M. Ajmeer Khan	9	Beef
41	Mr. M. H. M. Fazal	10	Beef
71	1411. 141. 11. 141. 1 4241	10	Beer
	Maligawaththa	Market	
42	Mr. M. N. M. Musthakeen	2	Mutton
43	Mrs. D. M. Nurjahan	4	Beef
44	Mr. S. B. M. Sadik	5	Beef
45	Mr. S. H. M. Nawshad	6	Beef
46	Mr. M. N. Burkhan	7	Beef
47	Mr. J. M. Yoosuf	8	Beef
47	WII. J. WI. 1008ul	Ü	DCCI
	Kotahena M	arkot	
48	Mr. I. H. B. S. Kulakarni	11	Beef
	Mr. M. F. M. Rifaz	11	Mutton
49			
50	Mr. M. B. Halaldeen	17	Mutton
	Stace Road M		
51	Mr. S. O. A. Samad	2	Beef
52	Mr. A. K. S. Hameed	3	Mutton
53	Mr. S. A. N. Zaraz	4	Beef
	Thimbirigasyaya		
54	Mr. M. O. M. Musthapa	P01(12)	Beef
55	Mr. M. O. M. Musthapa	P02(14)	Beef
56	Mr. M. O. M. Musthapa	P03(15)	Mutton
	Jinthupitiya M	I arket	
57	Mr. A. B. M. Thajudeen	1	Mutton
58	Mr. S. A. Azeez	3	Beef
59	Mr. Bestal Fernando	7	Mutton
	Vystwyke Ma	arket	
60	Mr. K. M. Thansil	12	Beef
61	Mr. H. M. M. Omardeen	13	Mutton
62	Mr. M. Najurdeen	14	Beef
	•		
	Nagalagamstree		
63	Mr. M. S. Rahuman	375/1	Mutton
64	Mr. A. R. M. A. Khan	375/3	Beef
65	Mr. M. H. Khan	375/4	Beef
66	Mr. A. R. M. A. Khan	375/5	Beef

Serial No.	Name of the applicant	Stall No.	Nature of Trade		
	Modara Market				
67	Mr. P. D. Winston	4	Beef		
	Kirulapone Market				
68	Mr. R. A. C. de Alwis	103	Pork		
69	Mr. F. A. Aubkhan	147	Mutton		
70	Mr. A. R. M. H. Khan	148	Beef		
71	Mr. S. N. Neina Mohomed	149	Beef		
72	Mr. D. Mohomed Sha	150	Beef		
	Jathikapola Market				
73	Mr. Mohomed Roomi	275	Beef		
74	Mr. M. Selvaraj	277	Mutton		

PRIVATE MEAT STALLS

Beef Stalls:

	Name	Address
1.	Mr. M. H. M. Nilam	No. 324, Dematagoda Road, Colombo 09
2.	Mr. S. K. Kader	No. 07, De Mel Street, Colombo 02
3.	Mr. J. J. Jamal	No. 07A, De Mel Street, Colombo 02
4.	Mr. S. Nihardeen	No. 07B, De Mel Street, Colombo 02
5.	Mr. S. M. M. Rafie	No. 242, Messenger Street, Colombo 12
6.	Mrs. Merlin Keegal	No. 102, St. Anthony's Road, Colombo 13
7.	Mr. S. Mohomed Rafeek	No. 45, Messenger Street, Colombo 12
8.	Mr. A. R. M. Alikhan	No. 427, Madampitiya Road, Grandpass, Colombo 14
9.	Mr. M. F. Jeinul Abdeen	No. 97, Abdul Hameed Street, Colombo 12
10.	Mrs. T. K. N. Fareena	No. 211/52, Jummamasjeed Road, Colombo 10
11.	Mr. G. S. H. Abdul Majeed	No. 01, Hussenia Street, Colombo 12
12.	Mr. M. M. Shabri	No. 227, Leyards Broadway, Colombo 14
13.	Mr. M. R. M. Ramli	No. 195, Meeraniya Street, Colombo 12
14.	Mr. M. T. R. Ameer	No. 111/2, Central Road, Pettah, Colombo 12
15.	Mr. S. M. Shukri	No. 226, Mohideen Masjeed Road, Colombo 10
16.	Mr. S. P. Henry Silva	No. 79, Lower Lover St. Andrew's Road, Colombo 15
17.	Mr. A. M. Shahul Hameed	No. A. G. 05, Withanage Mawatha, Colombo 02
: 18	Mr. N. M. M. Thawpik	No. 05, Hussenia Street, Colombo 12

Mutton Stall:

Beef/Mutton/Pork stall:

Cargills Ceylon Limited
 J. K. Marketin Pvt. Ltd.
 No. 40, York Street, Colombo 01
 No. 80, Nawam Mawatha, Colombo 02

04 - 151

NALLUR PRADESHIYA SABHA

Notice under Section 24(1) of Pradeshiya Sabha Act, No. 15 of 1987

IT is hereby notified in terms of the Section 24(1) of Pradeshiya Sabha Act, No. 15 of 1987 that the Nallur Pradeshiya Sabha in the Jaffna District in the Northern Province shall declare the roads referred to in the Schedule given below as the roads that belongs to such Pradeshiya Sabha.

It's hereby informed that if the parties who claim to be the owners of the relevant lands which have already been surveyed and marked by the Sabha lodge any objection they should take action in term of the Section 24(2) of Pradeshiya Sabha Act, No. 15 of 1987 to prove their ownership within one month from the date of publication of this notice.

Mary Joseph Santhaseelan, Chairman/Secretary, Nallur Pradeshiya Sabha..

Pradeshiya Sabha Office, Kokuvil, 10th March, 2010.

ROAD INVENTORY

Agency: Nallur Pradeshiya Sabha

District : Jaffna

DS/AGA Division : Nallur

NALLUR SUB OFFICE

Serial No.	G. N	. Division and Name	Name of Road	Plan No.	Extent (M²)	Length of Road (m)		ed	Grav- eled		Start of the Road	End of the Road	Grade
01	J/110	Thirunelvely West	•	NL/SR/95/22 of	457.32		3.05	✓	-	-	Palaly Road	Pvt. House	E
02	J/110	Thirunelvely West	Public Well Road Madathady Road	1995.05.29 NL/SR/95/22 of	45.73 487.80		3.05	✓	-	-	Palaly Road	Pvt. House	E
03	J/110	Thirunelvely West	Panikkar Road	1995.05.29 NL/SR/95/22 of 1995.05.29	1,060.98	290	3.66	✓	-	-	Palaly Road	Pvt. House	E
04	J/110	Thirunelvely West	Panikkar Road No.1	NL/SR/95/22 of 1995.05.29	439.02	120	3.66	-	✓	-	Pannikkar Road	Pvt. House	E
05	J/110	Thirunelvely West	Mathavady School Road	NL/SR/95/22 of 1995.05.29	731.71	200	3.66	✓	-	-	Palaly Road	Saivappadasalai	D
06	J/110	Thirunelvely West	Front Road	NL/SR/95/22 of 1995.05.29	512.20	140	3.66	✓	-	-	Palaly Road	Pvt. House	E
07	J/110	Thirunelvely West	Parameswara Road	NL/SR/95/22 of 1995.05.29	3,073.17	630	4.88	✓	-	-	Palaly Road	Kokuvil Cemetry Road	D
08	J/110	Thirunelvely West	Parameswara Road No. 1	NL/SR/95/22 of 1995.05.29	182.93	60	3.05	✓	-	-	Parameswara Road		E
09	J/110	Thirunelvely West	Parameswara Road No. 2	NL/SR/95/22 of 1995.05.29	396.34	130	3.05	✓	-	-	Parameswara Road	Pvt. House	E
10	J/110	Thirunelvely West	Parameswara Road No. 3	NL/SR/95/22 of 1995.05.29	457.32	150	3.05	✓	-	-	Parameswara Road	Pvt. House	E
11	J/110	Thirunelvely West	Parameswara Road No. 4	NL/SR/95/22 of 1995.05.29	579.27	190	3.05	✓	-	-	Parameswara Road	Pvt. House	E
12	J/110	Thirunelvely West	Parameswara Road No. 5	NL/SR/95/22 of 1995.05.29	518.29	170	3.05	✓	-	-	Parameswara Road	Pvt. House	E
13	J/110	Thirunelvely West	Parameswara Road No. 6	NL/SR/95/22 of 1995.05.29	518.29	170	3.05	✓	-	-	Parameswara Road	Pvt. House	E
14	J/110	Thirunelvely West	Kokuvil Mayana Road	NL/SR/95/22 of 1995.05.29	3,371.95	790	4.27	✓	-	-	Addiyapatham Road	Brown Road	D
15	J/110	Thirunelvely West	Nallayan Thevalaya Road		725.61	170	4.27	✓	-	-	Kokuvil Cemetry Road	Thevalayam	D
16	Л110	Thirunelvely West	Sivarajah Avenue	NL/SR/95/22 of 1995.05.29	439.02	120	3.66	-	✓	-	Palaly Road	Pvt. House	E
17	J/110	Thirunelvely West	Pillaiyar Road	NL/SR/95/22 of 1995.05.29	4,292.68	880	4.88	✓	-	-	Thalangavil Pillaiyar Kovil	Palaly Road	D
18	J/110	Thirunelvely West	Pillaiyar Road No.1		152.44	50	3.05	✓	-	-	Pillaiyar Road	Pvt. House	E
19	J/110	Thirunelvely West	Pillaiyar Road No.2		152.44	50	3.05	✓	-	-	Pillaiyar Road	Pvt. House	E
20	J/110	Thirunelvely West	Mariamman Road	NL/SR/95/22 of 1995.05.29	1,750.00	410	4.27	✓	-	-	Sivan Kovil Road	Pillaiyar Road	D
21	J/110	Thirunelvely West	Mariamman Road No. 1	NL/SR/95/22 of 1995.05.29	152.44	50	3.05	✓	-	-	Mariyamman Road	Pvt. House	E
22	J/110	Thirunelvely West	Mariamman Road No. 2	NL/SR/95/22 of 1995.05.29	121.95	40	3.05	✓	-	-	Mariyamman Road	Pvt. House	E
23	J/110	Thirunelvely West	Mariamman Road No. 3	NL/SR/95/22 of 1995.05.29	152.44	50	3.05	✓	-	-	Mariyamman Road	Pvt. House	E
24	J/110	Thirunelvely West	Mariamman Road No. 4	NL/SR/95/22 of 1995.05.29	1,237.80	290	4.27	✓	-	-	Mariyamman Road	Pvt. House	E

		rait IV (D)	- GAZETTE OF	THE DEMOCK	ATIC SO	CIALIS	I KEF	UBL	C OF	SKI .	LANKA - 01.04.	2010	
Serial No.	G. N	Division and Name	Name of Road	Plan No.	Extent (M²)	Length of Road (m)		ed	Grav- eled		Start of the Road	End of the Road	Grade
25	J/110	Thirunelvely West	Mariamman Road No. 5	NL/SR/95/22 of 1995.05.29	182.93	60	3.05	✓	-	-	Mariyamman Road	Pvt. House	E
26	J/110	Thirunelvely West	Thalaiyady Road	NL/SR/95/22 of 1995.05.29	1,134.15	310	3.66	✓	-	-	Navalady Road	Pillaiyar Road	D
27	J/110	Thirunelvely West	Navalady Road	NL/SR/95/22 of 1995.05.29	2,048.78	560	3.66	✓	-	-	Addiyapatham Road	Pillaiyar Road	D
28	J/110	Thirunelvely West	Paravakula Road	NL/SR/95/22 of 1995.05.29	548.78	150	3.66	✓	-	-	Pillaiyar Road	Paravaikkulam	D
29	J/111	Thirunelvely Centre West	e Registrar Road	NL/SR/95/23 of 1995.05.29	658.54	180	3.66	✓	-	-	Amman Road	Pvt. House	E
30	J/111		e Registrar Road No.1		243.90	80	3.05	✓	-	-	Registrar Road	Pvt. House	E
31	J/110		Amman Road No.1	NL/SR/95/22 of 1995.05.29	91.46	30	3.05	✓	-	-	Amman Road	Pvt. House	E
32	J/111	Thirunelvely Centre West	e Amman Road No.2	NL/SR/95/23 of 1995.05.29	213.41	70	3.05	✓	-	-	Amman Road	Pvt. House	E
33	J/110	Thirunelvely West	Amman Road No.3	NL/SR/95/22 of 1995.05.29	365.85	120	3.05	✓	-	-	Amman Road	Pvt. House	E
34	J/110	Thirunelvely West	Amman Road No.4	NL/SR/95/22 of 1995.05.29	304.88	100	3.05	✓	-	-	Amman Road	Pvt. House	E
35	J/111	Thirunelvely Centre West	e Amman Road No.5	NL/SR/95/23 of 1995.05.29	335.37	110	3.05	✓	-	-	Amman Road	Pvt. House	E
36	J/111		e Amman Road No.6	NL/SR/95/23 of 1995.05.29	243.90	80	3.05	✓	-	-	Amman Road	Pvt. House	E
37	J/110		Saivapadasalai Road		987.80	270	3.66	✓	-	-	Navalady Road	Saivappadasalai	D
38	J/114	Thirunelvely West	Kalasalai Road No.1		457.32	150	3.05	✓	-	-	Kalasalai Road	Pvt. House	E
39	J/114	Thirunelvely Centre North	Palangkinattu Pillaiyar Road	NL/SR/95/26 of 1995.05.30	768.29	210	3.66	✓	-	-	Kalasalai Road	Addyipatham Roa	d D
40	J/114	Thirunelvely Centre North	Kalasalai Road No.2		426.83	140	3.05	-	✓	-	Kalasalai Road	Pvt. House	E
41	J/114	Thirunelvely Centre North	Kalasalai Road No.3	NL/SR/95/26 of 1995.05.30	152.44	50	3.05	-	✓	-	Kalasalai Road	Pvt. House	E
42	J/114	Thirunelvely Centre North	Kalasalai Road No.4	NL/SR/95/26 of 1995.05.30	640.24	210	3.05	-	✓	-	Kalasalai Road	Pvt. House	E
43	J/114	Thirunelvely Centre North	Kalasalai Road No. 4-A	NL/SR/95/26 of 1995.05.30	243.90	80	3.05	-	✓	-	Kalasalai Road	Pvt. House	E
44	J/111	Thirunelvely Centre North	Arasady Road	NL/SR/95/23 of 1995.05.29	2,006.10	470	4.27	✓	-	-	Addiyapatham Road	l Amman Road	D
45	J/111	Thirunelvely Centre West	Arasady Road No.1	NL/SR/95/23 of 1995.05.29	243.90	80	3.05	✓	-	-	Arasady Road	Pvt. House	E
46	J/111	Thirunelvely Centre West	Arasady Road No. 1-A	NL/SR/95/23 of 1995.05.29	365.85	120	3.05	✓	-	-	Arasady Road	Pvt. House	E
47	J/111	Thirunelvely Centre West	Arasady Road No.2	NL/SR/95/23 of 1995.05.29	182.93	60	3.05	-	✓	-	Arasady Road	Pvt. House	E
48	J/111	Thirunelvely Centre West	Arasady Road No.3	NL/SR/95/23 of 1995.05.29	487.80	160	3.05	-	✓	-	Arasady Road	Pvt. House	E
49	J/114	Thirunelvely Centre West	Kondavil Sudalai Road	NL/SR/95/26 of 1995.05.30	1,621.95	380	4.27	✓	-	-	Kalasalai Road	Kondavil Cemetry	D
50	J/114	Thirunelvely Centre North	Kondavil Sudalai Road No.1	NL/SR/95/26 of 1995.05.30	274.39	90	3.05	✓	-	-	Kondavil Cemetry Road	Pvt. House	E
51	J/114	Thirunelvely Centre North	Housing Scheme 1 st Cross Road	NL/SR/95/26 of 1995.05.30	987.80	180	5.49	✓	-	-	Milk Boa. Road	Housing Scheme South Boder Road	D
52	J/114	Thirunelvely Centre North	Housing Scheme 2nd Cross Road	NL/SR/95/26of 1995.05.30	329.27	60	5.49	-	✓	-	Milk Boa. Road	Pvt. Land	E
53	J/114	Thirunelvely	Housing Scheme 2nd	NL/SR/95/26 of	548.78	100	5.49	-	✓	-	Milk Boa. Road	Pvt. Land	E
54	J/114	Centre North Thirunelvely	Cross Road No.L/2 Housing Scheme 2nd	NL/SR/95/26 of	1,152.44	210	5.49	✓	-	-	Milk Boa. Road	Housing Scheme	D
55	J/114	Centre North Thirunelvely	Cross Road No.2/2 Housing Scheme 2nd	NL/SR/95/26 of	603.66	110	5.49	-	✓	-	Milk Boa. Road	South Boder Road Pvt. Land	D D
56	J/114	Centre North Thirunelvely	Cross Road No.4/3 Housing Scheme 2nd		1,152.44	210	5.49	-	✓	-	Milk Boa. Road	Housing Scheme	D
57	J/114	Centre North Thirunelvely	Cross Road No.2B Housing Scheme 2nd		548.78	100	5.49	-	✓	-	Milk Boa. Road	South Boder Road Pvt. Land	l E
58	J/114	Centre North Thirunelvely	Cross Road No.L/4 Housing Scheme 2nd		1,152.44	210	5.49	-	✓	-	Milk Boa. Road	Housing Scheme	D
59	J/114	Centre North Thirunelvely	Cross Road No.R/4 Housing Scheme 2nd		603.66	110	5.49	-	✓	-	Milk Boa. Road	South Boder Road Pvt. Land	l E
60	J/114	Centre North Thirunelvely	Cross Road No.L/5 Housing Scheme 2nd	NL/SR/95/26 of	1,152.44	210	5.49	-	✓	-	Milk Boa. Road	Housing Scheme	D
		Centre North	Cross Road No.R/5	1995.05.30								South Boder Road	Ĺ

		Part I	v (b)	- GAZETTE OF I	THE DEMOCK	ATIC SO	CIALIS	I KEP	UDL	COF	SKI .	LANKA - 01.04.2	.010	
Serial No.	G. N	. Division and Name	!	Name of Road	Plan No.	Extent (M²)	Length of Road (m)		ed	Grav- eled		Start of the Road	End of the Road	Grade
61	J/114	Thirune1vely North	Centre	Housing Scheme 2nd Cross Road No.L/6	NL/SR/95/26 of 1995.05.30	603.66	110	5.49	-	✓	-	Milk Boa. Road	Pvt. Land	E
62	J/114		Centre	Housing Scheme 2nd Cross Road No. R/6	NL/SR/95/26 of 1995.05.30	2,359.76	430	5.49	-	✓	-	Milk Boa. Road	Addyapatham Road	D
63	J/114	Thirunelvely North	Centre	Housing Scheme 2nd Cross Road No. R/6A	NL/SR/95/26 of 1995.05.30	329.27	60	5.49	-	✓	-	6th Cross Road	5th Cross Road	D
64	J/114	Thirunelvely North	Centre	Housing Scheme 2nd Cross Road No. R/6B	NL/SR/95/26 of 1995.05.30	329.27	60	5.49	-	✓	-	6th Cross Road	5th Cross Road	D
65	J/114	Thirunelvely North	Centre	Housing Scheme 2nd Cross Road No. R/6L	NL/SR/95/26 of 1995.05.30	1,810.98	330	5.49	-	✓	-	6th Cross Road	7th Cross Road	D
66	J/114	Thirunelvely North	Centre	Murugan Road	NL/SR/95/26 of 1995.05.30	3,371.95	790	4.27	✓	-	-	Kalasalai Road	Vellavaikal Road	l D
67	J/114		Centre	Murugan Road No.1		457.32	150	3.05	-	✓	-	Murugan Road	Pvt. House	E
68	J/114		Centre	Murugan Road 1A		243.90	80	3.05	-	✓	-	Murugan Road	Pvt. House	E
69	J/114	Thirunelvely	Centre	Murugan Road No.2	$NL/SR/95/26\ of$	152.44	50	3.05	-	✓	-	Murugan Road	Pvt. House	E
70	J/114	-	Centre	Murugan Road No.3		365.85	120	3.05	-	✓	-	Murugan Road	Pvt. House	E
71	J/114	-	Centre	Murugan Road No.4		548.78	180	3.05	-	✓	-	Murugan Road	Pvt. House	E
72	J/114	-	Centre	Murugan Road No.5		548.78	180	3.05	-	✓	-	Murugan Road	Pvt. House	E
73	J/114		Centre	Murugan Road No.6		274.39	90	3.05	-	✓	-	Murugan Road	Pvt. House	E
74	J/111	-	Centre	Sinnamuthuthamby		219.51	60	3.66	✓	-	-	Addiyapatham Road	Pvt. House	E
75	J/114	-	Centre	Road Kerniyady Road	1995.05.29 NL/SR/95/26 of	402.44	110	3.66	✓	-	-	Addiyapatham Road	Pvt. House	E
76	J/114	-	Centre	Kerniyady Road	1995.05.30 NL/SR/95/26 of	121.95	40	3.05	✓	-	-	Keniyady Road	Pvt. House	E
77	J/114	-	Centre	No. 01 Kerniyady Road	1995.05.30 NL/SR/95/26 of	243.90	80	3.05	✓	-	-	Keniyady Road	Pvt. House	E
78	J/114	-	Centre	No. 02 Kerniyady Road	1995.05.30 NL/SR/95/26 of	152.44	50	3.05	✓	-	-	Keniyady Road	Pvt. House	E
79	J/114	-	Centre	No. 03 Kerniyady Front	1995.05.30 NL/SR/95/26 of	274.39	90	3.05	✓	-	-	Addiyapatham Road	Pvt. House	Е
80	J/114	-	Centre	Road Kerniyady Front	1995.05.30 NL/SR/95/26 of	152.44	50	3.05	✓	-	-	Keniyady Front	Pvt. House	E
81	J/113	-	North	Road 1st Road Pazham Road	1995.05.30 NL/SR/95/25 of	439.02	120	3.66	-	✓	-	Road Point Pedro Road	Pvt. House	E
82	J/113	-		Mukurunipillaiyar		1,963.41	460	4.27	✓	-	-	Dach Road	P.P. Road	D
83	J/113	Thirunelvely		Mukurunipillaiyar		213.41	70	3.05	✓	-	-	Mukkuruni Pillatyar	Pvt. House	E
84	J/113		North		1995.05.29 NL/SR/95/25 of	335.37	110	3.05	✓	-	-	Road Mukkuruni pillatya	r Pvt. House	E
85	J/113	-	North	2nd Road Mukurunipillaiyar	1995/05.29 NL/SR/95/25 of	121.95	40	3.05	✓	-	-	Road Mukkuruni pillatya	r Pvt. House	E
86	J/113	East Thirunelvely East	North	3rd Road Madathady Road	1995/05.29 NL/SR/95/25 of 1995/05.29	621.95	170	3.66	✓	-	-	Road Point Pedro Road	Pvt. House	E
87	J/113		North	Veerapaththirar Road		1,621.95	380	4.27	✓	-	-	Dach Road	P.P. Road	E
88	J/113		North	Veerapaththirar Road 1 st Lane		182.93	60	3.05	✓	-	-	Veerapathirar Road	Pvt. House	E
89	J/113		North	Veerapaththirar Road 2nd Lane		213.41	70	3.05	✓	-	-	Veerapathirar Road	Pvt. House	E
90	J/113		North	Gnanapaskarothaya Road		1,280.49	300	4.27	✓	-	-	Dach Road	P.P. Road	E
91	J/113		North	Pazham Road No.2	NL/SR/95/25 of 1995/05.29	182.93	60	3.05	-	✓	-	Point Pedro Road	Pvt. House	E
92	J/113		North	Point Pedro Road	NL/SR/95/25 of 1995/05.29	152.44	50	3.05	-	✓		Point Pedro Road	Pvt. House	E
93	J/113		North	Arumugam Road	NL/SR/95/25 of 1995/05.29	658.54	180	3.66	-	✓	-	Point Pedro Road	Pvt. House	E
94	J/113		North	Valai Amman Front ROad	NL/SR/95/25 of 1995/05.29	182.93	60	3.05	✓	-	-	Valaiyamman Kovil	Chenguntha Roa	d D

		rait IV (D)	- GAZETTE OF I	THE DEMOCKA	ATIC 30	CIALIS	I KEF	OBL	C OF	SKI	LANKA - 01.04.2	.010	
Serial No.	G. N.	Division and Name	Name of Road	Plan No.	Extent (M²)	Length of Road (m)		ed	Grav- eled		Start of the Road	End of the Road	Grade
95	J/113	-	Arulampalam Road	NL/SR/95/25 of	329.27	90	3.66	✓	-	-	Point Pedro Road	Pvt. House	E
96	J/113	East Thirunelvely North East	Kalaimahal Road	1995/05.29 NL/SR/95/25 of 1995/05.29	2487.80	510	4.88	✓	-	-	Addiyapatham Road	New Chemmany Road	D
97	J/113	Thirunelvely North East	Kalaimahal Road No. 01	NL/SR/95/25 of 1995/05.29	396.34	130	3.05	✓	-	-	Kalaimagal Road	Pvt. House	E
98	J/113	Thirunelvely North East		NL/SR/95/25 of 1995/05.29	243.90	80	3.05	✓	-	-	Kalaimagal Road	Pvt. House	E
99	J/113		Chandrasekarapillayar Road		1878.05	440	4.27	✓	-	-	Addiyapatham Road	Kalaimagal Road	D
100	J/113	Thirunelvely North East	Karayankula lane	NL/SR/95/25 of 1995/05.29	384.15	90	4.27	✓	-	-	Addiyapatham Road	Bharathy Road	D
		Thirunelvely South East		NL/SR/95/24 of 1995/05.29	3030.49	710	4.27	✓	-	-	Point Pedro Road	Ramalingam Road	l D
102	J/112	Thirunelvely South East	Poothavarayar Road	NL/SR/95/24 of 1995/05.29	1792.68	420	4.27	✓	-	-	Chenguntha Road	Sadanathr Road	D
		East	Poothavarayar Road 1st Road	1995.05.29	762.20		3.05	✓	-	-	Poothavarayar Road	Chenguntha Road	
		East	Poothavarayar Road 2nd Road	1995.05.29	213.41	70	3.05	√	-	-	Poothavarayar Road	Pvt. House	E
		Thirunelvely South East	Road	NL/SR/95/24 of 1995.05.29	1463.41	400	3.66	√	-	-	Addiyapatham Road	Chenguntha Road	
		Thirunelvely North East	Gnanapiragasar Road		292.68	80	3.66	√	-	-	Addiyapatham Road	Gnanaprkasar Roa	
		Thirunelvely North East Thirunelvely Centre	Chenguntha Road	NL/SR/95/25 of 1995.05.29	585.37 548.78	160 150	3.66	√ ./	-	_	Gnanaprakasam Road	Chenguntha Road	ı D Е
		West	,	NL/SR/95/23 of 1995.05.29 NL/SR/95/23 of	512.20		3.66	v	-	-	Ramalingam Road Henady Road	Pvt. House	E E
		West Thirunelvely South	-	1995.05.29 NL/SR/95/24 of	396.34		3.05	✓	_	_	•	Chenguntha Road	
		East Thirunelvely South		1995.05.29 NL/SR/95/24 of	213.41	70	3.05	_	✓	_	Ramalingam Road	_	Е
		East Thirunelvely South	-	1995.05.29 NL/SR/95/24 of	396.34	130	3.05	_	✓	_	Ramalingam Road		E
		East Thirunelvely South	-	1995.05.29 NL/SR/95/24 of	243.90		3.05	✓	_	_	Chadanathar Road		Е
114	J/112	East Thirunelvely South	No. 01 Chadanathar Road	1995.05.29 NL/SR/95/24 of	182.93	60	3.05	✓	_	_	Chadanathar Road	Pvt. Road	Е
115	J/112	East Thirunelvely South		1995.05.29 NL/SR/95/24 of	182.93	60	3.05	✓	-	-	Chadanathar Road	Pvt. Road	Е
116	J/112	East Thirunelvely South		1995.05.29 NL/SR/95/24 of	853.66	280	3.05	✓	-	-	Chadanathar Road	Pvt. Road	E
117	J/112	East Thirunelvely South	•	1995.05.29 NL/SR/95/24 of	1493.90	350	4.27	✓	-	-	Chadanathar Road	Chenkuntha Road	i D
118	J/112	East Thirunelvely South	Kondalady lane	1995.05.29 NL/SR/95/24 of	152.44	50	3.05	✓	-	-	Kondalady	Pvt. House	E
119	J/112	East Thirunelvely South East	No. 01 Adiyapatha Chenkuntha lane	1995.05.29 NL/SR/95/24 of 1995.05.29	402.44	110	3.66	✓	-	-	Chenkuntha Road Addiyapatham Road	Chenkuntha Road	i D
120	J/114	Thirunelvely Centre North		1993.03.29	152.44	50	3.05	✓	-	-	Kandy Road	Pvt. House	E
121	J/94	Ariyalai Centre North	IIlayathamby Road	NL/SR/06 of 1995.05.03	3414.63	700	4.88	✓	-	-	Kandy Road	Chemmany Road	D
122	J/89	Ariyalai South East		NL/SR/95/1 of 1995.03.02	521.95	107	4.88	✓	-	-	Mulli Road	Manipury front Road	D
123	J/89	Ariyalai South East	Manipuri Uthayapuram Kadatkarai Road	NL/SR/95/1 of 1995.03.02	4439.02	910	4.88	✓	-	-	Columputhuthrai Road	Uthayapuram	D
124	J/89	Ariyalai South East	Manipuri front Road		4439.02	910	4.88	✓	-	-	Manippury junction	Uthayapuram	D
125	J/89	Ariyalai South East	Manipuri Centeral Road	NL/SR/95/1 of 1995.03.02	4439.02	910	4.88	✓	-	-	Manippury 1st Cross	Uthayapuram	D
126	J/89	Ariyalai South East	Manipuri 1st Cross Road		1463.41	300	4.88	✓	-	-	Manippury junction	Manippury North	ı E
127	J/89	Ariyalai South East	Manipuri 2nd Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	ı E
128		Ariyalai South East	Manipuri 3rd Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	
129		Ariyalai South East	Manipuri 4th Cross Road	NL/SR/95/1 of 1995.03.02	1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	ı E
130	J/89	Ariyalai South East	Manipuri 5th Cross Road	NL/SR/95/1 of 1995.03.02	1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	ı E

		Tart IV (B)	OMEETTE OF I	THE BEMOCK	1110 50	CITILID	I KLI	CDLI	COI	DIG I	E/11111/1 01:04:2	2010	
Serial No.	G. N	. Division and Name	Name of Road	Plan No.	Extent (M²)	Length of Road (m) H		ed	Grav- eled		Start of the Road	End of the Road	Grade
131	J/89	Ariyalai South East	Manipuri 6th Cross Road	NL/SR/95/1 of 1995.03.02	1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
132	J/89	Ariyalai South East	Manipuri 7th Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
133	J/89	Ariyalai South East	Manipuri 8th Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
134	J/89	Ariyalai South East	Manipuri 9th Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
135	J/89	Ariyalai South East	Manipuri 10th Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
136	J/89	Ariyalai South East	Manipuri 11th Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
137	J/89	Ariyalai South East	Manipuri 12th Cross Road		1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
138	J/89	Ariyalai South East		NL/SR/95/1 of 1995.03.02	1463.41	300	4.88	✓	-	-	Manippury front Road	Manippury North	E
139	J/89	Ariyalai South East		NL/SR/95/1 of 1995.03.02	731.71	150	4.88	✓	-	-	Manipury front Road	Thevalayam	E
140	J/90	Ariyalai East	Iyanar Kovil Road	NL/SR/95/1 of 95/2-03-03	1804.88	370	4.88	✓	-	-	Ariyalai Road	Sea side	D
141	J/89	Ariyalai South East	Poompugar Road	NL/SR/95/1 of 95-03-02	3853.66	790	4.88	✓	-	-	Ariyalai Road	Sea side	D
142	J/89	Ariyalai South East	Manipuri Navalady Road		4439.02	910	4.88	✓	-	-	Ariyalai Road	Uthayapuram	E
143	J/89	Ariyalai South East	Uthayapuram Road		3707.32	760	4.88	✓	-	-	Navalady Road	Poompugar	D
144	J/110	Thirunelvely West	Ampalavanar Road	NL/SR/95/22 of 1995.05.29	275.00	100	2.75	✓	-	-	Palali Road	Pvt. House	E
145	J/114	Thirunelvely Centre North	Thirunelvely Madam Road		442.75	161	2.75	✓	-	-	Palali Road	Pvt. House	E
146	J/114	Thirunelvely Centre North		NL/SR/95/26 of	385.00	140	2.75	✓	-	-	Palali Road	Pvt. House	E
147	J/113	Thirunelvely Centre	Madam Road	1995.05.30 NL/SR/95/25 of	415.20	173	2.40	✓	-	-	Point Pedro Road	Pvt. House	E
148	J/111	North Thirunelvely Centre North	Paviyar vairavar Kovil Road	1995.05.29 NL/SR/95/23 of 1995.05.29	324.00	135	2.40	-	✓	-	Arasady Amman Road	Pvt. House	E
				KO	KUVIL SU	JB OFFIC	C E						
01	J/121	Kokuvil North East	Champion Road	NL/SR/95/33 of 1995.07.06	4258.10	872.91	4.88	✓	-	-	K.K.S.Road	Amman Road	D
02	J/121	Kokuvil North East	Karuvelady Road	NL/SR/95/33 of 1995.07.06	1502.68	308.05	4.88	✓	-	-	Addiyapatham Road	Kulappiddy Road	D
03	J/121	Kokuvil North East	Kulapidi Road	NL/SR/95/33 of 1995.07.06	1891.37	344.65	5.49	✓	-	-	K.K.S.Road Road	Karuvelady Road	D
04	J/121	Kokuvil North East	College Road	NL/SR/95/33 of	1556.62	283.65	5.49	✓	-	-	Addiyapatham	Kulappiddy Road	l D
05	J/123	Kokuvil South East	Press Road	1995.07.06 NL/SR/95/35 of	2008.54	366.00	5.49	✓	-	-	Road Addiyapatham	Sivapatha Road	D
06	J/121	Kokuvil North East	Church Road	1995.07.31 NL/SR/95/33 of	423.09	106.75	3.96	✓	-	-	Road K.K.S.Road	Pvt. Road	D
07	J/121	Kokuvil North East	Karuvelady Path	1995.07.06 NL/SR/95/33 of	1129.80	247.05	4.57	✓	-	-	Karuvelady Road	College Road	D
08	J/123	Kokuvil South East	Old Post office Road		1548.25	338.55	4.57	✓	-	-	K.K.S.Road	Thalayali vairavar	D
09	J/121	Kokuvil North East	Nanthavil Road	1995.07.31 NL/SR/95/33 of	3307.39	678.02	4.88	✓	-	-	Champion Road	Kovil Amman Road	D
10	J/121	Kokuvil North East	Mission School Road		2493.56	511.18	4.88	✓	-	-	Champion Road	Nanthavil Road	D
11	J/121	Kokuvil North East	Maniyakaran Road	1995.07.06 NL/SR/95/33 of	1874.63	384.30	4.88	✓	-	-	Karuvelady Road	Amman Road	D
12	J/121	Kokuvil North East	Vithanayar Road	1995.07.06 NL/SR/95/33 of	1054.85	216.25	4.88	✓	-	-	Kulappiddy Road	Champion Road	D
13	J/121	Kokuvil North East	Puthiya Olungai	1995.07.06 NL/SR/95/33 of	483.54	158.60	3.05	✓	-	-	Addiyapatham Road	Maniyaharar Road	l D
14	J/126	Kokuvil North East	Udayar Road	1995.07.06 NL/SR/95/38 of	3208.08	701.50	4.57	✓	-	-	Potpathy Road	Station Road	D
15	J/126	Kokuvil North East	Pariyariyar Road	1995.07.31 NL/SR/95/38 of	2217.02	559.37	3.96	✓	-	-	Udayar Road	Railway Road	D
16	J/126	Kokuvil Centre East	Udayar Road	1995.07.31 NL/SR/95/38 of	1011.24	221.13	4.57	✓	-	-	Potpathy Road	Udayar Road	D
17	J/122	Kokuvil Centre East	Karuvapulam Road	1995.07.31 NL/SR/95/34 of 1995.07.31	749.85	153.72	4.88	✓	-	-	Adiyapatham Road	Kaladdy front Road	D

		Turcit	(B) GREETTE GI	THE DEMOCIA	1110 00	CITILID	1 ICE	CBL	10 01	OIG I	D/ 11 (11.1)	010	
Serial No.	G. N.	Division and Name	Name of Road	Plan No.	Extent (M²)	Length of Road (m)		ed	Grav- eled	Con- crete	Start of the Road	End of the C Road	Grade
18	J/122	Kokuvil Centre	East Konavalai Vairavar Kovil Road	NL/SR/95/34 of 1995.07.31	2115.66	433.71	4.88	✓	-	-	Addiyapatham Road	Nelliady Road	D
19	J/122	Kokuvil Centre	East Chempadu Road	NL/SR/95/34 of 1995.07.31	1356.51	317.81	4.27	✓	-	-	Potpathy Road	Konavalai Road	D
20	J/122	Kokuvil Centre	East Namahal Road	NL/SR/95/38 of 1995.07.31	801.18	218.99	3.66	✓	-	-	Potpathy Road	Amman Road	D
21	J/122	Kokuvil Centre	East Konavalai 1 st lane		557.93	152.50	3.66	✓	-	-	Potpathy Road	Konavalai Road	D
22	J/122	Kokuvil Centre	East Chempadu lane	NL/SR/95/34 of 1995.07.31	564.99	132.37	4.27	✓	-	-	Potpathy Road	Konavalai Road	D
23	J/122	Kokuvil Centre	East Konavalai Road I (Nelliyady)	NL/SR/95/34 of 1995.07.31	1740.55	407.79	4.27	✓	-	-	Potpathy Road	Konavalai Road	D
24	J/122	Kokuvil Centre	East Konavalai Road II (Thurka Amman lane)	NL/SR/95/34 of 1995.07.31	1486.88	375.15	3.96	✓	-	-	Potpathy Road	Konavalai Road	D
25	J/123	Kokuvil South	East Pirampady Road	NL/SR/95/35 of 1995.07.31	2975.61	610.00	4.88	✓	-	-	Addiyapatham Road	Sabhabathy Road	D
26	J/123	Kokuvil South	East Pirampady Road No. 1	NL/SR/95/35 of 1995.07.31	792.26	216.55	3.66	✓	-	-	Addiyapatham Road	Pirambady Road	D
27	J/123	Kokuvil South	East Pirampady Road No. 2	NL/SR/95/35 of 1995.07.31	311.51	102.18	3.05	✓	-	-	Pirambady Road	Pvt. Road	D
28	J/123	Kokuvil South	East Ampakkar Road	NL/SR/95/35 of 1995.07.31	1262.03	318.42	3.96	✓	-	-	Brown Road	Pirambady Road	D
29	J/123	Kokuvil South	East Thalayali lane	NL/SR/95/35 of 1995.07.31	604.42	152.50	3.96	✓	-	-	Sabapathy Road	Press Road	D
30	J/110	Kokuvil South	East Cemetery 1 st lane	NL/SR/95/35 of 1995.07.31	475.17	111.33	4.27	✓	-	-	Cemetery Road	Pvt. Road	E
31	J/110	Kokuvil South	East Cemetery 2nd lane	NL/SR/95/35 of 1995.07.31	1646.81	385.83	4.27	✓	-	-	Cemetery Road	Palay Road	D
32	J/110	Kokuvil South	East Cemetery Road	NL/SR/95/35 of 1995.07.31				✓	-	-	Addiyapatham Road	Brown Road	D
33	J/123	Kokuvil South	East Pillaiyar Road	NL/SR/95/35 of 1995.07.31	613.72	183.00		✓	-	-	K.K.S.Road	Nadaraja Road	D
34	J/124	Kokuvil North V	West Mappanamuthaliyar Road	NL/SR/95/36 of 1995.07.31	520.73	122.00		✓	-	-	Mannadithinni Road	Nadaraja Road	D
			West Manththaithanai Road	NL/SR/95/36 of 1995.07.31		427.00		✓	-	-	Nadaraja Road	Muruga moorthy Road	D
			Vest Muthalikovil Road	1995.07.31				√	-	-	K.K.S.Road	Mandaithinni Road	D
			Vest Varaki amman kovil Road	1995.07.31				✓	-	-	Addiyapatham Road	Road	D
		Kokuvil West	Varaki amman kovil Road, 2nd lane	1995.07.31	1257.20			✓	-	-	Varaki kovil	Adaikalanayaki Road	D
		Kokuvil West	CCTMS, Road	1995.07.31	1562.20			√	-	-	Adiyapatham Road	Murugamoorthy Road	D
		Kokuvil West	Shiramathana Road	1995.07.31		103.70		√	-	-	Adaikalanayaki kovil Road		Е
		Kokuvil West	Adaikalanayaki Road	NL/SR/95/37 of 1995.07.31				√	-	-	Adiyapatham Road		D
		Kokuvil West	Piddari kovil Road	1995.07.31	1227.44			√	-	-	Adiyapatham Road	-	D
		Kokuvil West	Puthiya lane I	NL/SR/95/37 of 1995.07.31				√	-	-	Adiyapatham Road	-	D
		Kokuvil West	Puthiya lane II	NL/SR/95/37 of 1995.07.31		152.50		√	-	-	Adiyapatham Road		
		Kokuvil West	Kerniyadi Road I	NL/SR/95/37 of 1995.07.31				v	-	-	Adiyapatham Road		
		Kokuvil South East	Kerniyady Road II	NL/SR/95/39 of 1995.07.31	1190.24			v	-	-	Addiyapatham Road	Road	D
			East Puthiya Road	NL/SR/95/39 of 1995.07.31		122.00		v	-	-	Neethiraja Road	Gnanapanditha Road	D
			East Iyanar kovil Road	NL/SR/95/39 of 1995.07.31	1883.00			v	-	-	Adiyapatham Road	-	D
			East Sornavadali Road	1995.07.31	1952.74			v	-	-	Addivapatham Road		D
			East Maniyarpathy Road	1995.07.31	1445.03			·	-	-	Addiyapatham Road		D D
31	J/120	KOKUVII CEIIITE	West Ramupillai Road	NL/SR/95/39 of 1995.07.31	1173./8	419.09	4.41	٧	-	-	Manchavanppathi Road	recumajan Koad	ע

		Part IV (D)	- GAZETTE OF I	THE DEMOCKA	1110 30	CIALIS	KEP	UBLI	COF	SKI I	LAINKA - 01.04.2	2010	
Serial No.	G. N.	Division and Name	Name of Road	Plan No.	Extent (M²)	Length of Road (m) R		ed	Grav- eled		Start of the Road	End of the C Road	Grade
52	J/115	Kokuvit Centre West	Vivekanantha Road	NL/SR/95/27 of 1995.05.30	2975.61	610.00	4.88	✓	-	-	Annaigai Road	Bharathy Road	D
53	J/116	Kondavil North West	Saivapadasalai Road		5195.69	1,136.13	4.57	✓	-	-	Kondavil - Irupalai Road	Bharathy Road	D
54	J/117	Kondavil South West	Karaikal Sivan Kovil Road		3263.87	823.50	3.96	✓	-	-	Annangai Road	Karaikal Sivan Kovil	D
55	J/115	Kondavil West	Sivakami Amman Road	NL/SR/95/27 of 1995.05.30	652.77	178.43	3.66	✓	-	-	Annangai Road	Sivakami Amman Kovil	D
56	J/115	Kondavil West	Barathy Road	NL/SR/95/27 of 1995.05.30	1289.83	325.44	3.96	✓	-	-	K.K.S.Road	Vivekanantha Rd.	D
57	J/115	Kondavil West	Manchathady Road		846.19	213.50	3.96	✓	-	-	Annangai Road	Manchathady Kovil	D
58	J/115	Kondavil West	Thoddaveli Road	NL/SR/95/27 of 1995.05.30	846.19	213.50	3.96	✓	-	-	Navaratnarajah Road		i D
59	J/115	Kondavil West	Vivekanantha Cross Road		650.91	152.50	4.27	✓	-	-	Vivekananda Road	Pvt. House	E
60	J/116	Kondavil North West		NL/SR/95/28 of 1995.05.30	2965.29	748.17	3.96	✓	-	-	K.K.S.Road	Saiva School Road	i D
61	J/116	Kondavil North West	Kaladdi Road	NL/SR/95/28 of 1995.05.30	2020.44	473.36	4.27	✓	-	-	Kondavil - Irupalai Road	Muththaddumada Road	D
62	J/116	Kondavil North West	Mutheddumada Road	NL/SR/95/28 of 1995.05.30	1301.83	305.00	4.27	✓	-	-	Muththaddu Road		D
63	J/116	Kondavil North West		NL/SR/95/28 of 1995.05.30	2300.05	502.95	4.57	✓	-	-	Champion Road	Kovil Road	D
64	J/116	Kondavil North West	Nanthavil Road II	NL/SR/95/28 of 1995.05.30	652.77	164.70	3.96	✓	-	-	Champion Road	Kovil Road	D
65	J/116	Kondavil North West	Assari Road	NL/SR/95/28 of 1995.05.30	820.80	207.10	3.96	✓	-	-	K. K.S. Road	Pvt. Road	E
66	J/116	Kondavil North West	Kaladdy Cross Road		650.91	213.50	3.05	✓	-	-	Kaladdy Road	Muththaddu Road	D
67	J/120	Kondavll South East	Kulakarai Road	NL/SR/95/32 of 1995.05.30	1255.34	411.75	3.05	✓	-	-	Good shed Road	Irupalai Road	D
68	J/120	Kondavll South East	Kulakarai Road II	NL/SR/95/32 of 1995.05.30	762.50	250.10	3.05	✓	-	-	GoodShed Road	Kulangarai Road	D
69	J/117	Kondavil North West	Navaratnarajah Road	NL/SR/95/29 of 1995.05.30	4881.86	1,067.50	4.57	✓	-	-	Kondavil - Irupalai Road	Annangai Road	D
70	J/117	Kondavil Centre West	Neddilippdi Pillaiyar Road I		2442.23	572.18	4.27	✓	-	-	Kumarkodda Road	Navaratnarajah Road	D
71	J/117	Kondavil Centre West	Neddilippdi Pillaiyar Road II		1032.16	338.55	3.05	✓	-	-	Neddilipai Pillaiyar Road	Kumarakoddam Road	D
72	J/120	Kondavll South East	Sethukkapulam Road	NL/SR/95/32 of 1995.05.30	2780.34	701.50	3.96	✓	-	-	Potpathy Road	Goodshed Road	D
73	J/116	Kondavil North West		NL/SR/95/28 of 1995.05.30	490.98	161.04	3.05	-	✓	-	Serukkapulam Road	Pvt. Road	E
74	J/117	Kondavil Centre West	Gnanavira	NL/SR/95/29 of 1995.05.30	306.86	100.65	3.05	✓	-	-	Saiva School Road	Pvt. House	E
7.5	1/117	Variation Control Was	Road		604.42	152.50	2.00		,		I1-: D1	Det Deed	Б
			t Kondavil Post office Road	1995.05.30	604.42			-	•	-	Irupalai Road	Pvt. Road	Е
		Kondavil Centre West	Road I	NL/SR/95/30 of 1995.05.30	669.51			√	-	-	Kumarkodda Road	•	D
		Kondavil Centre West	Road II	NL/SR/95/30 of 1995.05.30	1227.44			✓	-	-	Kumarkodda Road	Kovil	
		Kondavil Centre West		NL/SR/95/30 of 1995.05.30	969.49			√	-	-	Arasady Road	Kumarakoddam Road	D
79	J/117	Kondavil Centre Wes	t Iyanthanai Road	NL/SR/95/29 of 1995.05.30	1837.44			√	-	-	Annaigai Road	Karaikkal	D
80	J/119	Kondavil Centre East	Konavalai Road (Vairavar Road)	NL/S R195/31 of 1995.07.06	3275.96	826.55	3.96	✓	-	-	Palaly Road	Konavalai Road	D
81	Л119	Kondavil Centre East	Aalady Road	NL/SR/95/31 of 1995.07.06	1562.20	366.00	4.27	✓	-	-	Kondavil - Irupalai Road	Sepasthiyar Road	D
82	J/119	Kondavil Centre East	Narayana Road	NL/SR/95/31 of 1995.07.06	1562.20	366.00	4.27	✓	-	-	Arasady Road	Alady Road	D
83	J/119	Kondavil Centre East	Sevasthiyar Road	NL/SR/95/31 of 1995.07.06	2659.45	671.00	3.96	✓	-	-	Arasady Road	Alady Road	D
84	J/119	Kondavil Centre Eas	t Koddaikadu Cemetery Road	NL/S R195/31 of 1995.07.06	1952.74	457.50	4.27	✓	-	-	Palaly Road	Koddaikadu Cemetery	D

	Part IV (B) – GAZETTE OF T	THE DEMOCK	ATIC SC	CIALIS	T REP	OBLIC OF	SRI	LANKA – 01.04.2	2010	
Seria No.	l G. N. Division and Name	Name of Road	Plan No.	Extent (M²)	of Road		Tarr- Grav- ed eled)		Start of the Road	End of the G Road	irade
85	J/119 Kondavil Centre E	ast Annagai Cemetery Road	NL/SR/95/31 of 1995.07.06	967.07	244.00	3.96	✓ -	-	Palaly Road	Annangai cemetery Road	D
86	J/119 Kondavil Centre E		NL/SR/95/31 of 1995.07.06	2896.57	678.63	4.27	✓ -	-	Palaly Road	Moonru Kovilady Road	D
87	J/119 Kondavil Centre E	ast Vairavar Kovil Road	NL/SR/95/31 of 1995.07.06	2922.42	798.80	3.66	✓ -	-	Arasady pillaiyar Kovil Road	Palaly Road	D
88	J/119 Kondavil Centre E	ast Ramakrishnan Mission School Road	NL/SR/95/31 of 1995.07.06	1692.38	427.00	3.96	✓ -	-	Palaly Road	Ramakrishna Mission Road	D
89	J/120 Kondavil South Ea		NL/SR/95/32 of 1995.05.30	1910.90	417.85	4.57	✓ -	-	Kondavil-Irupalai Road	Kalasalai Thodda Land	D
90	J/120 Kondavil South Ea		NL/SR/95/32 of 1995.05.30	2610.17	611.53	4.27	✓ -	-	Kondavil-Irupalai Road	Kalikovil Road	D
91	J/120 Kondavil South Ea	st Kalikovil Road	NL/SR/95/32 of 1995.05.30	2610.17	611.53	4.27	✓ -	-	Palaly Road	Potpathy Road	D
92	J/120 Kondavil South Ea	st Vairavar Kovil Cross Road	NL/SR/95/32 of 1995.05.30	366.28	92.42	3.96	✓ -	-	Irupalai Road	Pvt. Road	E
93	J/99 Vannarpannai Nort West	n Ponnaiyah Road	NL/SR/95/11 of 1995.05.18	3012.99	581.33	5.18	✓ -	-	Addiyapatham Road	Karainagar Manipay Road	D
94	J/99 Vannarpannai Nort West	n Sinnaiyah Road	NL/SR/95/11 of 1995.05.18	3409.49	798.80	4.27	✓ -	-	Karainagar Manipay Road		D
95	J/99 Vannarpannai Nort West	n Arukkal Madda Road	NL/SR/95/11 of 1995.05.18	1420.39	358.38	3.96	- ✓	-	Manipay Road	Sea Side Road	D
96	J/99 Vannarpannai Nort West	n Uyarapullam Road I	NL/SR/95/11 of 1995.05.18	2375.84	556.63	4.27	✓ -	-	Manipay Road	Vaithilingam Rd.	D
97	J/99 Vannarpannai Nort West	n Uyarapullam Road II	NL/SR/95/11 of 1995.05.18	637.06	160.74	3.96	✓ -	-	Manipay Road	Uyarapulam	D
98	J/99 Vannarpannai Nort West	n Arukkal Madda Road	NL/SR/95/11 of 1995.05.18	83.69	27.45	3.05	✓ -	-	Manipay Road	Sea side Road	D
99	J/99 Vannarpannai Nort West	n Ponnaiyah Cross Road	NL/SR/95/11 of 1995.05.18	725.30	183.00	3.96	✓ -	-	Ponniah Road	Pidarikovil Road	D
100	J/126 Kokuvil Centre Ea		NL/SR/95/11 of 1995.05.19	6040.75	1655	3.65	✓ -	-	Adiyapatham Road	Kondavil Irupalai Road	D
101	J/128 Kokuvil Centre We	st Kalaivani Poonari Road	NL/SR/95/39 of 1995.07.31	2649.9	726	3.65	✓ -	-	K.K.S.Road	Neethyraja Road	D
102	J/118 Kondavil Centre E	ast Muthumari Amman Lane Kondavil	NL/SR/95/30 of 1995.05.30	158	79	2	- ✓	-	Thilaiyampathy Road	Muthumari Amman Kovil	
	J/116 Kondavil Centre W	Road	1995.05.30		115	3	- ✓	-	K.K.S.Road	Pvt. House	Е
104	J/123 Kokuvil South Eas	t Sabapathy Cross Lane Thalaiyali Kokuvil	NL/SR/95/35 of 1995.07.31	3075	1025	3	- ✓	-	Sapapathy Road	Pvt. House	Е
105	J/116 Kondavil South W	est Seeco Lane Upoomadam K.K.S. Road	NL/SR/95/28 of 1995.05.30	675	225	3	✓ -	-	K.K.S.Road	Pvt. House	Е
106	J/99 Vannarpannai Nort West		NL/SR/95/11 of 1995.05.18	979.2	408	2.4	✓ -	-	Neethyraja Road	Neethyraja Road	E
107	J/125 Kokuvit West	Keniyadi Road Kokuvil	NL/SR/95/37 of 1995.07.31	2580	860	3	✓ -	-	Kulappiddy Anaikoddai Road	Neethyraja Road	D
108	J/117 Kondavil Centre W		NL/SR/95/29 of 1995.05.30	951	317	3	- ✓	-	Kumarakoddam Road	Pvt. House	Е
109	J/116 Kondavil South W	est Saththar Road Upoomadam K.K.S.	NL/SR/95/28 of 1995.05.30	427.2	178	2.4	✓ -	-	K.K.S.Road	Pvt. Road	Е
110	J/127 Kokuvil South We	Road st Kanthiji C.C. North Road	NL/SR/95/39 of 1995.07.31	840	280	3	✓ -	-	Neethyraja Road	Vaithilingam Road	D
111	J/127 Kokuvil South We	st Kanthiji C.C. South	NL/SR/95/39 of	591.25	215	2.75	✓ -	-	Neethyraja Road	Vaithilingam	D
112	J/119 Kondavil North Ea	Road st Kokula Road Kondavil East	1995.07.31 NL/SR/95/31 of 1995.07.06	3504	960	3.65	✓ -	-	Palaly Road	Road Annankai Road	D
113	J/99 Vannarpannai Nort West		NL/SR/95/11 of 1995.05.18	3942	1080	3.65	✓ -	-	Manipay Road	Keneyadi Road	D
114	J/126 Kokuvil Centre Ea	st Potpathy Cross Road	NL/SR/95/38 of 1995.07.31	840	280	3	✓ -	-	Potpathy Road	Potpathy Road	D
115	J/122 Kokuvil East	Anaivilunthan Road		480	200	2.4	✓ -	-	Palaly Road	Pvt. House	Е

Miscellaneous Notices

DEHIOWITA PRADESHIYA SABHA

Impose of Business Tax for the Year 2010

IT is hereby notified to the public that the following resolution was adopted by the Dehiowita Pradeshiya Sabha at its meeting held on 26th November, 2009 under the Decision No. 11:1:1.

It is hereby further notified that the above business tax for the Year 2010, should be paid to the Dehiowita Pradeshiya Sabha before 30th April, 2010.

K. A. I. Amila Ruwan, Chairman, Dehiowita Pradeshiya Sabha.

Pradeshiya Sabha, Dehiowita, 15th December, 2010.

RESOLUTION

By virtue of the powers vested in the Schedule 1 of Section 152 of the Pradeshiya Sabha Act, No. 15 of 1987, Dehiowita Pradeshiya Sabha resolves to pay a tax those who are running a business within the authority area of the Dehiowita Pradeshiya Sabha during the Year of 2010 and which is not a profession and which does not require to pay an Industry Tax under Section 150 of the said Act or does not require to take a license under the said act or under the provisions of any other by-law made under it. The tax will be calculated based on the revenue of last year as shown in Column I and the amount payable is illustrated in the corresponding entry of the Column II and this tax should be paid to the Dehiowita Pradeshiya Sabha before the 30th April, 2010.

THE SCHEDULE

Column I Revenue of the business in the year before the tax is applicable	Column II Tax payable Rs. cts.		
01. Up to Rs. 6,000	No		
02. If it exceed Rs. 6,000 and does not exceed Rs. 12,000	900		
03. If it exceed Rs. 12,000 and does not exceed Rs. 18,750	180 0		
04. If it exceed Rs. 18,750 and does not exceed Rs. 75,000	360 0		
05. If it exceed Rs. 75,000 and does not exceed Rs. 150,000	1,200 0		
06. If it exceed Rs. 150,000	3,000 0		

04-39/1

DEHIOWITA PRADESHIYA SABHA

Impose of Taxes on Vehicles and Animals for the Year 2010

IT is hereby notified to the public that the following resolution was adopted by the Dehiowita Pradeshiya Sabha at its meeting held on 26th November, 2009 under the Decision No. 11:1:2.

It is hereby further notified that the above tax for the Year 2010, should be paid to the Dehiowita Pradeshiya Sabha immediately after the completion of 30 days in his custody the said vehicle or animal that is subjected to this tax in the jurisdiction of Dehiowita Pradeshiya Sabha.

K. A. I. Amila Ruwan, Chairman, Dehiowita Pradeshiya Sabha.

Pradeshiya Sabha, Dehiowita, 15th December, 2010.

RESOLUTION

Dehiowita Pradeshiya Sabha resolves to impose and charge a tax for the year 2010, as illustrated in the Column II on any person who is having his custody a vehicle or animal mentioned in the Column I of the following Schedule within the jurisdiction of Dehiowita Pradeshiya Sabha, in terms of the powers vested by Section 147 to be read with Section 148 and 04th Schedule of Pradeshiya Sabha Act, No. 15 of 1987.

SCHEDULE

Column I	Column II Rs. cts.
01. (i) For every other Vehicle except Motor car, Motor tricar, Motor Lorry, Motor Bicycle, Cart, Jinrickshaw, Bicycle or Tricycle	25 0
(ii) For every Bicycle or Tri-cycle or Bicycle Car or Bicycle Cart -	
(a) If it use for trade purposes	18 0
(b) If it use for non-trade purpose	4 0
(iii) For a Cart	20 0
(iv) For a Hand Cart	10 0
(v) For a Rickshaw	7 50
(vi) For a Horse, Pony or Mule	15 0
(vii) For a Tusker	50 0

02. Childern's vehicles having wheels' diameter does not exceeds 26 inches and wheel barrows, hand-carts which are using in private places for trade purposes and hand-carts which does not use for trade purposes are excluded from the above payment.

04-39/2

DEHIOWITA PRADESHIYA SABHA

Impose of Assessment Tax for the Year – 2010

IT is hereby notified to the public that the following resolution was adopted by the Dehiowita Pradeshiya Sabha at its meeting held on 26th November, 2009 under the Decision No. 11:1:3.

It is hereby further notified that the assessment tax imposed for the year 2010 should be paid to the office of the Pradeshiya Sabha by four (04) equal installments in the every quarter.

A discount of 10% will be paid if the full amount of the assessment tax for the year 2010 is paid before 31st January, 2010 and a discount of 5% will be paid if the assessment tax due for each quarter is paid before the last day of the first month of each quarter which are ending 31st March, 30th June, 30th September and 31st December.

K. A. I. Amila Ruwan, Chairman, Dehiowita Pradeshiya Sabha.

Pradeshiya Sabha, Dehiowita, 15th December, 2010.

RESOLUTION

Dehiowita Pradeshiya Sabha resolves to accept the annual assessment value of the year 2009 of all the houses, buildings, lands and tenements as the value for the year 2010, within the jurisdiction of Dehiowita Pradeshiya Sabha, in terms of the powers vested by Schedule I of Section 146 of the Pradeshiya Sabha Act, No. 15 of 1987.

01. By virtue of the power vested under the Sub-section (1) of the Section 134 of the aforesaid Pradeshiya Sabha Act, Dehiowita Pradeshiya Sabha resolves to order to pay an assessment at the percentage of 4% or 5% or 7% under the provisions of the Section 134 of the Pradeshiya Sabha Act, in four equal installments during four quarters ending 31st March, 30th June, 30th September and 31st December for all the immovable properties situated within the divisions of the Schedule below.

SCHEDULE

Published in the *Gazette* of the Government of Sri Lanka No. 14080 of 26th June, 1964 and situated within the jurisdiction of Dehiowita Small Town Council.

Division No. 01, Awissawella Road/Right, Assessment No. 940-1000	7%
Division No. 01, Awissawella Road/Right, Assessment No. 1000/1-1000/17	6%
Division No. 01, Awissawella Road/Right, Assessment No. 1002-1020/6	7%
Division No. 01, Awissawella Road/Right, Assessment No. 1020/7	4%
Division No. 01, Awissawella Road/Right, Assessment No. 1020/8-1068	7%
Division No. 01, Awissawella Road/Right, Assessment No. 1084-1084/3	6%
Division No. 01, Dangolla Road/Right, Assessment No. 8-30/A	7%
Division No. 01, Dangolla Road/Right, Assessment No. 32-62	6%
Division No. 01, Gurugalla Road/Left, Assessment No. 1-93	7%
Division No. 01, Gurugalla Road/Left, Assessment No. 97-165/5	6%
Division No. 01, Gurugalla Road/Left, Assessment No. 175-255	4%
Division No. 01, Mosque Road/Left, Assessment No. 3-37	7%
Division No. 01, Mosque Road/Left, Assessment No. 6/38/12	7%
Division No. 01, Seetha Vidyalaya Road/Left, Assessment No. 3-61	7%
Division No. 01, Div. No. 02, Awissawella Road/Left, Assessment No. 611-803	6%
Division No. 02, Awissawella Road/Left, Assessment No. 807-847	6%
Division No. 02, Awissawella Road/Left, Assessment No. 840-1019/10	7%
Division No. 02, Awissawella Road/Left, Assessment No. 1019/15-1019/24	6%
Division No. 02, Awissawella Road/Left, Assessment No. 1019/24-1047	7%
Division No. 02, Awissawella Road/Left, Assessment No. 1047/7-1047/36	6%
Division No. 02, Awissawella Road/Left, Assessment No. 1047/37-1067	7%
Division No. 02, Sugatharama Road/Left, Assessment No. 3-31	7%
Division No. 02, Sugatharama Road/Left, Assessment No. 31-41/3	4%
Division No. 02, Sugatharama Road/Right, Assessment No. 8/16-11	7%
Division No. 02, Sugatharama Road/Right, Assessment No. 26-30	6%
Division No. 02, Sugatharama Road/Right, Assessment No. 32-38	4%
Division No. 03, Awissawella Road/Right, Assessment No. 644-844	4%
Division No. 03, Awissawella Road/Right, Assessment No. 844/2-844/5	6%
Division No. 03, Awissawella Road/Right, Assessment No. 844/8-844/11	4%
Division No. 03, Awissawella Road/Right, Assessment No. 850-872	6%
Division No. 03, Awissawella Road/Right, Assessment No. 872A/932	7%
Division No. 03, Gurugalla Road/Right, Assessment No. 4-100/A	7%
Division No. 03, Gurugalla Road/Right, Assessment No. 102-310	6%
Division No. 04, Awissawella Road/Right, Assessment No. 78-338	7%
Division No. 04, Awissawella Road/Right, Assessment No. 342-408/A	6%
Division No. 04, Awissawella Road/Right, Assessment No. 408/1-636/1	4%
Division No. 04, Pirivena Road/Left, Assessment No. 1-103	7%
Division No. 04, Pirivena Road/Right, Assessment No. 2-114	7%
Division No. 05, Awissawella Road/Right, Assessment No. 2-76/6	7%
Division No. 05, Ginigathena Road/Left, Assessment No. 1-224	7%
Division No. 05, Ginigathena Road/Left, Assessment No. 243/1-245/22	7%
Division No. 05, Ginigathena Road/Left, Assessment No. 247-317	7%
Division No. 05, Ginigathena Road/Left, Assessment No. 317/10	6%
Division No. 05, Ginigathena Road/Left, Assessment No. 325-401	7%
Division No. 05, Pirivena Road/Left, Assessment No. 113-273	7%
Division No. 03, Pirivena Road/Left, Assessment No. 275-345	6%
Division No. 05, Pirivena Road/Right, Assessment No. 116-276	7%
Division No. 06, Awissawella Road/Left, Assessment No. 7-83/2	7%
Division No. 06, Deraniyagala Road/Left, Assessment No. 3-173/4	6%
Division No. 06, Deraniyagala Road/Right, Assessment No. 10-80	6%
Division No. 06, Ginigathena Road/Right, Assessment No. 2-380	7%
Division No. 06, Kanamgama Road/Right, Assessment No. 6-28/12	7%
Division No. 07, Awissawella Road/Left, Assessment No. 85-287/2/B	7%
Division No. 07, Awissawella Road/Left, Assessment No. 287/3-605	6%
Division No. 07, Algoda Road/Left, Assessment No. 1-51	7%

Division No. 07, Algoda Road/Right, Assessment No. 71-171	6%
Division No. 07, Algoda Road/Right, Assessment No. 4-32	7%
Division No. 07, Algoda Road/Right, Assessment No. 34-168	6%
Division No. 07, Eheliyagoda Road/Left, Assessment No. 3-181	7%
Division No. 07, Eheliyagoda Road/Right, Assessment No. 106-132	7%
Division No. 07, Malwarusawa, Thimbiripola Road/Right, Assessment No. 11-21	6%
Division No. 07, Malwarusawa, Thimbiripola Road/Right, Assessment No.11-21	6%
Division No. 07, Malwarusawa, Thimbiripola Road/Right, Assessment No. 27-41	4%
Division No. 07, Malwarusawa, Thimbiripola Road/Left, Assessment No. 100/17	6%
Division No. 07, Play-ground Road/Right, Assessment No.2-22/4	7%

Developed areas approved by the Commissioner of Local Government, Kegalle, by letter No. c/4 and dated 04th July, 1988, under the Section 134(1) of the Pradeshiya Sabha Act, No.15 of 1987.

(i)	Madola - Avissawella - Ratnapura Road - from culvert No.61/1 to 62/3 - Two chains	2%
(ii)	(Panawala)Dehiowita-Eheliyagoda Road - from culvert No.0/5 to 62/3 - Two chains	3%
(iii)	(Napawala) Thalduwa-Gurugalla Road-from culvert No.2/3 to the direction of Daigala upto 1/6	
	culvert Mosque Road- Two chains	2%
(iv)	Magammana-Avissawella-Ginigathhena Road-from culvert No.11/3 to 14/2, Two chains	4%

04-39/3

DEHIOWITA PRADESHIYA SABHA

Impose of Acreage Tax For The Year - 2010

IT is hereby notified to the public that the following resolution was adopted by the Dehiowita Pradeshiya Sabha at its meeting held on 26th November, 2009 under the decision No.ll: 1:4.

It is hereby further notified that the acreage tax imposed for the year 2010 should be paid in Four (4) equal installments in every quarter.

A 10% discount will be paid if the full amount of the tax, that is due for the year 2010 is paid before the 31st January, 2010 to the Pradeshiya Sabha, and a discount of 5% will be paid if the acreage tax due for each quarter is paid before the last day of each quarter which are ending 31st March 2010, 30th June 2010, 30th September 2010 and 31st December 2010.

K. A. I. Amila Ruwan, Chairman, Dehiowita Pradeshiya Sabha.

Pradeshiya Sabha, Dehiowita, 15th December, 2010.

RESOLUTION

By virtue of the powers vested by the subsection 3 of the section 134 of the Pradeshiya Sabha Act, No.15 of 1987, Dehiowita Pradeshiya Sabha resolves to charge an acreage tax from those lands which are not excluded from the acreage tax by Section 135 of the above Act and under the permanent or regular cultivation.

- (a) To impose and charge Rs. 10 per Hectare, if the extent of the land is larger than 05 Hectares or more.
- (b) As the Minister of Local Government has declared the authority area of the Dehiowita Pradeshiya Sabha as a special area under the provisions of the subsection (3) of section 134 of the said Act and published in the section 1 (a) of the *Gazette* of the Democratic Socialist Republic of Sri Lanka dated 10th March 1989, Dehiowita Pradeshiya Sabha resolves to impose and charge an annual acreage tax of Rs.50 for all those lands in extent 1 to 5 hectares for the year 2010.
- (c) Dehiowita Pradeshiya Sabha resolves under the power vested by subsection (6) of the section 134 of the Pradeshiya Sabha Act, that the above tax will be paid in four (4) equal installments before 31st March, 30th June, 30th September and 31 st December of the said year.

DEHIOWITA PRADESHIYA SABHA

Imposing charges on Licenses issued for the year 2010, to run any industry under the Relevant By-Laws

IT is hereby notified to the public that the following resolution was adopted by the Dehiowita Pradeshiya Sabha at its meeting held on 26th November, 2009 under the decision No. 11:1:5.

It is hereby further notified that a fee will be charged on every license issued by the Dehiowita Pradeshiya Sabha to run an Industry under any by-law for the year 2010.

Amila Ruwan, Chairman, Dehiowita Pradeshiya Sabha.

Pradeshiya Sabha, Dehiowita, 15th December, 2010.

RESOLUTION

By virtue of the powers vested in the Dehiowita Pradeshiya Sabha under the section 147 to be read with section 149 of the Pradeshiya Sabha Act, Dehiowita Pradeshiya Sabha resolves to impose and charge from the industries mention in the column I, schedule below a license fee as illustrated in the corresponding entry of the column II regarding the licenses issue in the year 2010 by Dehiowita Pradeshiya Sabha under any By-law or interim standard By-law.

Schedule

LICENSE FEES (BUSINESS WHICH SHOULD BE CARRIED OUT WITH A LICENSE)

	1st Column		2nd Column	
Serial		Annu	al Value of the Pre	mises
No.	Nature of the Industry or Business	Exceeds	Between	Exceeds
		Rs.750	Rs.750-1500	Rs.1500
		Rs.	Rs.	Rs.
1	Eating House/Hotel/Cafe	5000	7500	1,000 0
2	Cook-shop	400 0	600 0	800 0
3	Tea-shop or Coffee-shop	400 0	600 0	8000
4	Saloon	400 0	600 0	800 0
5	Selling Meat or Fish	500 0	750 0	1,000 0
6	Laundry	400 0	600 0	800 0
7	Dairy	400 0	600 0	800 0
8	Selling Milk	400 0	600 0	800 0
9	Bakery	500 0	750 0	1,000 0
10	Ice Plant	500 0	750 0	1,000 0
11	Mobile food selling	500 0	750 0	1,000 0
12	Slaughter house	500 0	7500	1,000 0
13	Retail selling of dry foods	400 0	600 0	800 0
14	Wholesale of dry foods	500 0	750 0	1,000 0
15	Sale of miscellaneous food items	400 0	600 0	800 0
16	Sale of fruits or vegetable	400 0	600 0	800 0
17	Shop of King Coconut/Young Coconut or Quid	400 0	600 0	8000
18	Mobile sale of hyginically made different foods, sweets and drinks,	500 0	750 0	1,000 0

DEHIOWITA PRADESHIYA SABHA

Impose of Industry Tax for the Year 2010

IT is hereby notified to the public that the following resolution was adopted by the Dehiowita Pradeshiya Sabha at its meeting held on 26th November, 2009 under the decision No. 11:1:6.

It is hereby further notified that the above Industry tax for the year 2010, should be paid to the Dehiowita Pradeshiya Sabha before 30th April, 2010.

AMILA RUWAN, Chairman, Dehiowita Pradeshiya Sabha.

Pradeshiya Sabha, Dehiowita, 15th December, 2010.

RESOLUTION

By virtue of the power vested in the schedule 1 of section 150 of the Pradeshiya Sabha Act, No.15 of 1987, Dehiowita Pradeshiya Sabha resolves to impose and charge a tax from those who are running an industry within the authority area of the Dehiowita Pradeshiya Sabha during the year of 2010 and for the industries mentioned in the column 1 and the amount payable is illustrated in the corresponding entry of the column 2 according to the annual value of the premises and this tax should be paid to the Dehiowita Pradeshiya Sabha before the 30th April, 2010.

	1st Column		2nd Column	
Serial		Annu	al Value of the Pre	mises
No.	Nature of the Industry	Exceeds	Between	Exceeds
		Rs.750	Rs.750-1,500	Rs.1,500
		Rs.	Rs.	Rs.
1	Sale of Bricks or Tiles	500 0	750 0	1,000 0
2	Sale of fire-wood	400 0	600 0	800 0
3	Sale of Timber (Coconut timber & other timber)	500 0	750 0	1,000 0
4	Sale of empty bottles, scrap iron, sacks, waste plastics	400 0	6000	800 0
5	Plants uses machinery	500 0	750 0	1,000 0
6	Smith's shops which does not use machinery	400 0	600 0	800 0
7	Saw mill	500 0	750 0	1,000 0
8	Sale of textiles and ready made clothes	400 0	600 0	800 0
9	Sale of handloom textiles	400 0	600 0	800 0
10	Powerloom factories	500 0	750 0	1,000 0
11	Manufacture of gold jewellery and/or sale	500 0	750 0	1,000 0
12	Carpenter's shed and/or place for wood carving	400 0	600 0	800 0
13	Sale of fertilizer and/or agro-chemicals	500 0	750 0	1,000 0
14	Construction of Buildings and/or sale of tools.	500 0	750 0	1,000 0
15	sweet-meats and/or different food items, spices packets	400 0	600 0	800 0
16	Concrete products and/or misllaneous cement products	500 0	750 0	1,000 0
17	Cushion Work-shop	400 0	600 0	800 0
18	Leather and/or resin products related products(sale of slippers	400 0	600 0	800 0
19	Sale of furniture	500 0	7500	1,000 0
20	Sale of Electrical equipment and/or electro tools, sports goods	500 0	750 0	1,000 0
21	Grinding mills for Grains, Pulses and spices	400 0	600 0	800 0
22	Sale of hyginically packeted meat or fish refrigerated	400 0	6000	800 0
23	Production of Rubber Sheets	400 0	600 0	800 0
24	Sale of Sand	500 0	750 0	1,000 0
25	Production of boards and/or seasoning	400 0	600 0	800 0
26	Sale of shop items (Gift itmes, clocks, Glassware, bicycles,	500 0	750 0	1,000 0
	electrical Goods, mixed trade)			,
27	Production and/or sale of soap or candles	400 0	600 0	800 0
28	Sale of Electrical items and/or spares	500 0	750 0	1,000 0
				,

	1st Column		2nd Column	
Serial		Annı	ial Value of the Pre	emises
No.	Nature of the Industry	Exceeds	Between	Exceeds
		Rs.750	Rs.750-1,500	Rs.1,500
		Rs.	Rs.	Rs.
29	Sale of cane products, clay-products and/or handicrafts	400 0	600 0	800 0
30	Sale of Radios, Televisions and computers	400 0	600 0	800 0
31	Sale of spare parts of Motor car, Trishaw, motor-bicycyles	400 0	600 0	800 0
32	Sale or Production of aluminiumware or tinware	400 0	600 0	800 0
33	Sale of coconuts	400 0	600 0	800 0
34	Sale of water-pumps, generators. loud-speakers	500 0	750 0	1,000 0
35	Book-shops	400 0	600 0	800 0
36	Sale of Video-tapes, Cassette-tapes and song CD	400 0	600 0	800 0
37	Sale of rubber and scrap rubber	500 0	750 0	1,000 0
38	Sale of Western drugs	400 0	600 0	800 0
39	Sale of Eastern(Avurveda) drugs	400 0	600 0	800 0
40	Whole sale of tobacco and/or tobacco related products	400 0	600 0	800 0
41	Production of Joss sticks, paper bags and envelops	400 0	600 0	800 0
42	Production of Ice-packets and/or Yoghurts	400 0	600 0	800 0
43	Sale or Production of fresh water fish for food	500 0	7500	1,000 0
44	Sale of Ornamental fish	400 0	600 0	800 0
45	Collection and sale of tea-leaves	500 0	750 0	1,000 0
46	Liquor shop	500 0	7500	1,000 0
47	Sale of Gases	400 0	600 0	800 0
48	Picture framing and/or sale	400 0	600 0	800 0
49	Studio	500 0	7500	1,000 0
50	Making notice-boards and/or art house relates to the sizes	400 0	600 0	800 0
51	Sale of Plastic goods and/or playing goods	400 0	600 0	800 0
52	Sale of animal foods	400 0	6000	800 0
53	Sale of Motor vehicles, Three-wheels and Motor-bicycles	500 0	750 0	1,000 0
54	Factory of Fabric designing and/or painting. and batik	400 0	600 0	800 0
55	Sale of Solar-panel	500 0	7500	1,000 0
56	Sale of Tyres and tubes	500 0	750 0	1,000 0
57	Fibre-glass and plastic related products	400 0	600 0	800 0
58	Seed-bed	500 0	7500	1,000 0
59	Saloon	400 0	600 0	800 0
60	Buying and Selling of any item or good	500 0	750 0	1,000 0

04-39/6

MUNICIPAL COUNCIL - NEGOMBO

IT is hereby notified for the information of all that the Negombo Municipal Council at its meeting held on 04.11.2009 has resolved, in terms of the By-laws adopted and published to the effect in the *Gazette* and in terms of Sections 147, 247'A', 247'B', 247'C', 247'D', 247'E' of the Municipal Councils Ordinance (Chapter 252), as amended by Act, No. 42 of 1979 and 20 of 1980 of the Municipal Councils Ordinance (Amended), to impose and levy with effect from 01.01.2010 until cancelled by a subsequent notification, the licence fees and taxes specifically mentioned in each Schedule in respect of trades and industries operated in its area of authority, and described in the Schedule below mentioned.

- 01. To levy the annual licence fees described as per Schedule No. I below.
- 02. To levy Business or Industries taxes described as per Schedule No. II below.
- 03. To levy Trade and professional taxes described as per Schedule No. III below.
- 04. To levy a tax of 1% of the capital value of undeveloped land as per Section 247D(1) of the Act.

05. In terms of Section 247E(1), if an Auctioneer or Broker or any of his employees or agents or sub agents sells by Public Auction or in any other manner, a land situated within the Municipal Administrative limits, such Seller, Auctioneer, Broker or any of his employees, agents or sub-agents shall pay to the Council a tax equivalent to 1% per cent of the selling price after the sale of the land.

12% VAT, 3% NBT and Stamp Fees will be added to all levies mentioned in the Schedules.

M. E. H. B. Coorera, Mayor, Negombo.

Municipal Council, Negombo, 28th January, 2010.

Licence Fees imposed under Section (B) of Schedule No. 01-247

	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001	Annual value from Rs. 7,501	Annual value from Rs. 10,001	Annual value from Rs. 20,001	Annual value from Rs. 30,001	Annual value from Rs. 40,001	Annual value over Rs. 50,000
			upto	upto	upto	upto	upto	upto	
		Rs.	Rs. 7,500 Rs.	Rs. 10,000 Rs.	Rs. 20,000 Rs.	Rs. 30,000 Rs.	Rs. 40,000 Rs.	Rs. 50,000 Rs.	Rs.
	Maintenance of a tea or coffee shop		325	425	525	625	775	1,250	1,750
	Maintenance of a cafeteria	500	750	1,000	1,000	1,250	1,500	1,750	2,000
	Maintenance of a canteen	1,000	1,000	1,500	2,000	2,500	3,000	4,000	5,000
	Maintenance of a eating house	500	750 750	1,000	1,250	1,500	1,750	2,000	2,250
	Maintenance of a bakery	500	750 7 222	1,000	1,000	1,500	2,000	2,500	3,000
6.	Maintenance of a tourist hotel	3,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
_	(only for the year commence)	1 000	1.250	1.500	1.550	2 000	2.250	2.500	2 000
	Maintenance of a common lodge	1,000	1,250	1,500	1,750	2,000	2,250	2,500	3,000
8.	Maintenance of a common lodge	200	400	500	600	1 200	1.750	2.500	2.500
0	in a part of a residence	300	400	500	600	1,300	1,750	2,500	3,500
9.	A hotel registered with	10/	T	c					
10	Tourist Board	1%	Licences fe	es from pre	vious year tu	irnover			
10.	A lodge registered with the	10/	T	c					
1.1	Tourist Board	1%	Licences fe	es from pre	vious year				
11.	A Cafeteria registered with the	10/	T	c					
10	Tourist Board	1%	Licences fe	es from pre	vious year				
12.	Maintenance of a dairy for the	200	500	500	500	500	500	500	500
12	supply of milk	200	500	500	500	500	500	500	500
	Maintenance of a laundry	250	350	450	500	650	700	800	1,000
14.	Maintenance of a saloon -	150	250	250	400	450	550	600	750
	(i) Less than 3 seats	150	250	350	400	450	550	600	750
1.5	(ii) More than 3 seats	250	350	550	750	1,000	1,250	1,500	2,000
	Sale of guid of beetle	125	150	175	200	200	200	200	200
16.	Sale of news papers	150	250	300	400	500	600	700	800
Offen	sive Industries or Businesses								
17.	Sherbet kiosk/cool spot	300	350	350	400	500	650	750	1,000
	Maintenance of a grocery	250	300	350	450	550	1,000	2,000	3,000
	Maintenance of a fish auction shed		1,500	2,000	2,250	2,500	2,750	4,000	5,000
	Wholesale of rice	500	500	750	1,000	1,250	1,500	2,000	2,000
	Storing honey more than 10 gallons	250	350	400	450	500	750	1,000	1,000
	Storing dried fish exceeding the	230	330	400	430	300	750	1,000	1,000
22.	quantity of and hundredweight	350	500	750	1,000	1,250	1,500	1,600	1,750
23	Maintenance of a grinding mill	500	750	1,000	1,250	2,000	2,500	3,000	5,000
	Maintenance of a place for	200	150	1,000	1,230	2,000	2,500	3,000	3,000
۷4.	repairing bicycles	250	275	300	350	400	450	500	750
25	Sale of petroleum (petrol or diesel)		5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Storing and sale of kerosine	5,000	3,000	3,000	3,000	3,000	5,000	5,000	5,000
20.	exceeding the quantity of 25 gallons	500	750	1,000	1,250	1,500	1,750	2,000	2,000

	Tart IV (B) Grizzel I E (,, ,,,,,	21.10 010.1111	o boom initia	T REF CEEF	C OI SIXI LI	111111 01.0		
	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto	Annual value from Rs. 7,501 upto	Annual value from Rs. 10,001 upto	Annual value from Rs. 20,001 upto	Annual value from Rs. 30,001 upto	Annual value from Rs. 40,001 upto	Annual value over Rs. 50,000
27		Rs.	Rs. 7,500 Rs.	Rs. 10,000 Rs.	Rs. 20,000 Rs.	Rs. 30,000 Rs.	Rs. 40,000 Rs.	Rs. 50,000 Rs.	Rs.
27.	Retail of liquor (only for places	1.500	2 000	4.000	5,000	5,000	5,000	5,000	5 ,000
28	authorized by the Government) Wholesale of liquor	1,500 5,000	3,000 5,000	4,000 5,000	5,000 5,000	5,000 5,000	5,000 5,000	5,000 5,000	5,000 5,000
	Maintenance of a place for	3,000	3,000	3,000	3,000	3,000	3,000	3,000	3,000
27.	making motor vehicle bodies	1,000	2,500	5,000	5,000	5,000	5,000	5,000	5,000
30.	Maintenance of a cushion workshop		500	500	500	750	750	750	1,000
	Manufacture of papadam	150	250	500	600	700	800	1,000	1,000
	Maintenance a boutique	1,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
	Storing coal	500	750	1,000	1,000	1,000	1,000	1,000	1,000
34.	Storing metal item taken from								
	collection of scraps	1,000	1,600	2,000	2,500	3,000	3,000	3,000	3,000
	Maintenance of a saw structure	300	500	600	700	800	900	1,000	1,000
	Manufacture of furniture	500	1,000	2,000	2,000	2,500	3,000	4,000	5,000
	Storing or sale of coffins	1,000	2,000	3,000	3,000	3,250	3,500	4,000	5,000
38.	Maintenance of a place for sale	4 000	•	• • • • •	• 000			4.000	- 000
20	of coffins/funeral undertakers	1,000	2,000	3,000	3,000	3,250	3,500	4,000	5,000
39.	Storing coral in a place which is	500	500	500	500	750	1.000	1 000	1 000
40	not a kiln	500	500	500	500	750	1,000	1,000	1,000
	Manufacture of bricks or tiles	1,000	3,000	4,000	4,000	4,000	4,000	4,000	4,000
41.	Maintenance place for retail of cool-drinks	400	500	750	1,000	1,250	1,500	1,500	1,500
12	Maintenance of a brick yard	1,000	2,000	3,000	3,000	3,000	3,000	3,000	3,000
	Maintenance of a saw pit	300	500	500	500	750	750	1,000	1,000
	Manufacture of fertilizer	500	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Storing or sale of fertilizers or	300	1,000	1,000	1,000	1,000	1,000	1,000	1,000
73.	agro chemicals	500	750	750	1,000	1,500	1,500	2,000	3,000
46.	Storing leathers	250	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Maintenance of a cattle pen	200	300	300	300	500	500	500	500
	Maintenance of a ice-factory	2,000	3,000	3,000	3,000	3,500	3,500	4,000	5,000
	Maintenance of a soakge pit for	_,	-,	-,	2,000	-,	-,	.,	-,
	timber	200	500	500	500	500	500	500	500
50.	Storing potted fish or processed								
	fish exceeding the quantity of 3								
	hundredweights	300	350	350	350	350	350	350	350
51.	Icing up fish	500	500	500	500	500	500	500	500
	Production of soaps	300	500	750	1,000	1,250	1,500	1,500	1,500
53.	Maintenance of a factory to								
	manufacture motor machinary	1,000	2,000	3,000	3,250	3,500	4,000	4,000	5,000
	Production of brushes	300	300	300	300	300	300	300	300
55.	Production of Aurvedic medicine	250	7.50	7.50	7.50	7.50	7.50	7.50	1.000
	or oil	250	750	750	750	750	750	750	1,000
56.	Maintenance of a goat shed or	200	200	200	200	200	200	200	200
57	kraal (More than 10 goats)	300	300	300	300	300	300	300	300
	Tody collecting centre Fat production or obtaining fat	250	1,000	1,000	1,000	1,000	1,000	1,000	1,000
36.	from some other material	300	300	300	300	300	300	300	300
50		300	300	300	300	300	300	300	300
	Maintenance of a hatchery Rearing Poultry (more than 100)	300	350	350	350	350	500	500	500
	Sale of fish	125	225	325	425	500	1,000	1,500	2,000
	Production of fireworks	1,000	1,000	1,000	1,000	1,000	1,000	1,000	2,000
	Machanized weaving	1,000	2,000	2,000	2,000	2,000	2,000	2,000	2,000
	Repairing sewing machines	150	200	300	400	500	750	1,000	1,000
	Meat processing or drying	200	300	300	400	500	500	500	500
	Production of vinegar	500	500	500	500	500	500	500	500
	Tea packetting place	500	500	500	500	500	500	500	500
	Production of machanized		200	230	- 00	- 00	200	200	200
	earthenware	250	1,000	1,000	1,000	1,000	1,000	1,000	1,000
			,	,	,	,	,	,	,

	Tuit I (B) CILLETTE	, D.	3	0 000111210	T REF CEL	o or ordina	0110	2010	
	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto	Annual value from Rs. 7,501 upto	Annual value from Rs. 10,001 upto	Annual value from Rs. 20,001 upto	Annual value from Rs. 30,001 upto	upto	Annual value over Rs. 50,000
		D a	Rs. 7,500	Rs. 10,000	Rs. 20,000	Rs. 30,000	Rs. 40,000	Rs. 50,000	Rs.
69	Maintenance of a place for dying	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	KS.
07.	coir	300	300	300	300	300	300	300	300
70	Storing cement exceeding the	500	200	500	300	200	500	500	200
70.	quantity of 10 bags	300	300	400	500	600	700	800	1,000
71	Maintenance of a catering service	1,000	1,000	1,000	1,250	1,500	2,500	3,500	5,000
	Maintenance of a place for	1,000	1,000	1,000	1,230	1,500	2,300	3,300	3,000
12.	specialist channel service	1,000	1,500	2,000	2,500	3,000	3,500	4,000	5,000
72	-	1,000	1,300	2,000	2,300	3,000	3,300	4,000	3,000
13.	Maintenance of a self service	1.500	1.750	2 000	2.250	2.500	2,000	4.000	5 000
7.4	trade centre	1,500	1,750	2,000	2,250	2,500	3,000	4,000	5,000
/4.	Maintenance of a place for								
	production or supply of cakes	500	500	500	500	500	500	500	500
	and confectionery for parties	500	500	500	500	500	500	500	500
	Manufacture of fishing implements		200	300	500	750	1,000	1,000	1,000
	Import of fruits or vegetables	3,000	4,000	5,000	5,000	5,000	5,000	5,000	5,000
	Storing and sale of chemicals	750	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Cutting and bending iron sheets	500	750	1,000	1,250	1,500	2,000	2,500	3,000
79.	Maintenance of a restaurant								
	including sale of liquor (with the								
	approval of the Excise Commissioner	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
80.	Maintenance of a ice-cream factory	500	750	1,000	1,250	1,500	2,000	3,000	4,000
81.	Sale of vegetables								
	(except central market)	200	300	350	400	450	500	500	500
82.	Sale of fruits (except central market	t) 200	300	350	400	450	500	500	500
83.	Storing/sale of frozen fish or meat	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000
	Maintenance of a fish stall	750	1,000	1,200	1,500	2,500	3,000	4,000	5,000
85.	Maintenance of a cement grill or								
	cement block workshop	500	750	750	750	1,000	1,000	1,000	2,000
86.	Manufacturing/repairing gas cooker	s 500	750	1,000	1,500	2,000	2,000	3,000	3,000
	Maintenance of a shop for			Ź	,	Ź	,	,	,
	wholesale of forage	500	1,000	1,500	2,000	2,250	2,500	2,750	3,000
88.	Maintenance of a shop for sale of		,	,	,	,	,	,	- ,
	forage	500	500	500	500	500	750	750	750
89.	Manufacturing or storing	200	200	200	200	200	,,,,	,,,	,,,,
٠,٠	footware or leather items	500	500	750	1,000	1,250	1,500	1,750	2,000
90	Maintenance of a milk bar	300	300	300	300	300	400	500	500
	Maintenance of a store for	300	300	300	300	300	400	300	300
71.	wholesale of food stuff	500	1,000	1,250	1,500	1,750	2,000	2,500	3,000
02									
	Manufacture of bags	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Manufacture of glass or mirrors	500	1,000	1,500	2,000	2,500	3,000	4,000	5,000
	Manufacture of lead weight	250	500	750	1,000	1,250	1,500	2,000	3,000
95.	Maintenance of a prawn farm	500	1,000	1,500	2,000	2,500	3,000	4,000	5,000
96.	Retail of ice	500	700	1,000	1,500	2,000	2,000	2,000	2,000
97.	Conversion of vehicle engines into ga	s 1,500	2,000	2,500	3,000	4,000	5,000	5,000	5,000
98.	Maintenance of mechanized								
	carpentry	350	500	850	1,200	1,300	2,000	2,500	3,000
99.	Manufacture of pantry cupboard	1,000	1,500	1,750	1,750	1,750	1,750	2,000	3,000
	Mantenance of a garage	500	750	1,000	1,250	1,500	1,750	2,000	2,500
	Manufacture and sale of								
	confectionary	250	250	450	500	600	750	1,000	1,500
102	Storing coconut oil exceeding the	_55	250	150	500	000	, 50	1,000	1,500
104.		200	500	750	1 000	1.250	1.500	1 750	2.000
102	quantity of 10 gallons	200	500	750	1,000	1,250	1,500	1,750	2,000
	Production of copra	500	2,000	4,000	4,000	4,000	4,000	5,000	5,000
	Storing tobacco	200	300	500	600 500	750 500	750 750	750	1,000
105.	Production of beedi (wholesale)	150	500	500	500	500	750	1,000	1,000

	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto Rs. 7,500	Annual value from Rs. 7,501 upto Rs. 10,000	Annual value from Rs. 10,001 upto Rs. 20,000	Annual value from Rs. 20,001 upto Rs. 30,000	Annual value from Rs. 30,001 upto Rs. 40,000	Annual value from Rs. 40,001 upto Rs. 50,000	Annual value over Rs. 50,000
		Rs.	Rs. 7,500	Rs. 10,000	Rs. 20,000	Rs. 30,000	Rs. 40,000	Rs. 30,000	Rs.
106.	Maintenance of a place for								
	wholesale of cigarets	1,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
	Production of Cigar	150	200	500	500	500	750	1,000	1,000
108.	Repairing and servicing motors and								
	three-wheelers	250	350	450	550	750	1,000	1,250	1,500
109.	Maintenance of a motor vehicle								
	service station	500	750	1,000	1,250	1,500	2,000	3,000	4,000
110.	Maintenance of a welding								
	shop or lathe	500	750	1,000	1,250	1,500	1,750	2,000	2,500
111.	Maintenance of a place for								
	cromium, gold, copper electro	2.50	= 00		4.000		4.500	4 700	4 =00
	plating	250	500	750	1,000	1,250	1,500	1,500	1,500
112.	Maintenance of a press	200	400	400	400	400	400	700	500
110	(manually operated)	200	400	400	400	400	400	500	500
113.	Maintenance of a press	1 000	2 000	2.000	4.000	5 000	5 000	5 000	5.000
111	(operated by electricity)	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000
114.	Production of tin items using	200	200	200	200	200	200	200	200
115	forge and air pipe	200	300	300	300	300	300	300	300
115.	Maintenance of a yard for	2 000	4.000	£ 000	<i>5</i> ,000	<i>5</i> ,000	<i>5</i> ,000	5,000	£ 000
116	construction of boats	3,000 500	4,000 750	5,000	5,000	5,000	5,000	5,000	5,000 2,000
	Construction of small conoes	500	750 750	1,000 1,000	1,000 1,500	1,250 2,000	1,500 3,000	1,750 4,000	5,000
	Storing or sale of electrical items	300	730	1,000	1,300	2,000	3,000	4,000	3,000
110.	Manufacturing, storing or sale of paints or varnish	1,000	1,500	2,000	2,500	3,000	3,500	4,000	5,000
110	Storing empty bottles, tin,	1,000	1,500	2,000	2,300	3,000	3,300	4,000	3,000
117.	papers or iron scraps	500	1,000	1,500	2,000	2,500	3,000	3,500	4,000
120	Storing timber	2,000	2,500	3,000	3,000	3,000	3,500	4,000	5,000
	Maintenance of a firewood yard	500	500	500	500	500	500	500	500
	Maintenance of a saw mill	1,000	1,500	2,000	2,500	3,000	4,000	4,500	5,000
	Storing coir or coir items	200	200	300	400	500	500	500	500
	Maintenance of a studio	1,000	2,000	2,000	2,000	2,000	3,000	3,500	5,000
	Renting or repairing loudspeakers	100	200	300	400	500	500	500	500
	Manufacture of ceremics	1,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
	Keeping more than a gunny bag	,	-,	-,	- ,	- ,	-,	- ,	- ,
	of bones, lime or other materials								
	used for artificial fertilizers	100	300	300	300	300	300	300	300
128.	Extraction of oil from sediment								
	poonac or other coconut refuse								
	other than mill or chekku	100	300	300	300	300	300	300	300
129.	Maintenance of a place for								
	storing cotton	100	350	350	350	350	350	350	350
130.	Maintenance of a pharmacy	1,000	1,250	1,250	1,250	1,500	2,000	2,500	3,000
131.	Storing Ayurvedic medicine for sale	300	500	500	500	750	750	750	750
132.	Mechanized production of								
	coconut oil or gingili	1,000	1,000	2,000	2,000	2,000	2,000	2,500	2,500
133.	Mechanized metal crushing	1,000	2,000	3,000	3,000	3,000	5,000	5,000	5,000
134.	Extraction of coconut oil or								
	gingili using checkku	150	500	500	500	500	500	500	500
135.	Maintenance of a place for								
	processing desicated coconut	750	2,000	4,000	4,000	4,000	4,000	4,000	4,000
	Maintenance of a grocery	350	350	400	500	600	700	1,000	2,000
	Manufacturing box of matches	250	500	1,000	1,000	1,000	1,000	1,000	1,000
138.	Maintenance of a place for								
	mechanized, steam powered timber								
	sawing or planing	300	500	750	1,000	1,250	1,500	1,750	2,000

	Part IV (B) – GAZETTE OF THE DEMOCRATIC SOCIALIST REPUBLIC OF SRI LANKA – 01.04.2010								
	Annual Value Nature of the Business Licence	Upto Rs. 5,000	From Rs. 5,001	From Rs. 7,501	From Rs. 10,001	From Rs. 20,001	From Rs. 30,001	From Rs. 40,001	Over Rs. 50,000
		Rs.	upto Rs. 7,500 Rs.	upto Rs. 10,000 Rs.	upto Rs. 20,000 Rs.	upto Rs. 30,000 Rs.	upto Rs. 40,000 Rs.	upto Rs. 50,000 Rs.	Rs.
139.	Maintenance of a place for dress								
	making								
	(i) upto 10 machines	250	300	350	400	450	500	500	500
	(ii) From 10 to 25 machines	500	600	700	800	900	1,000	1,000	1,000
	(iii) More than 25 machines	750	800	850	900	1,000	1,250	1,500	2,000
140.	Motor vehicle painting	350	400	500	600	750	1,000	1,250	1,500
141.	Maintenance of a garment factory	2,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
	Maintenance of a glove factory	2,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
143.	Maintenance of a motor workshop	250	500	750	1,000	1,250	1,500	2,000	2,500
Hasa	rdous of offensive industries or busi	nesses :							
144	Manufacture of jewellery	500	500	500	750	1,000	1,250	2,000	3,000
	Maintenance of a forge or foundry	150	300	300	300	300	300	300	300
	Servicing or charging batteries	300	500	500	500	500	500	500	500
	Maintenance of a limekiln	500	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Maintenance of a nursing home or		,	,	,	ŕ	ŕ	,	,
	dispensary or surgery	4,000	4,000	4,000	4,000	4,000	4,000	5,000	5,000
149.	Storing or sale of gas	500	750	1,000	1,250	1,500	1,750	2,000	2,000
150.	Storing explosives	1,000	2,000	2,000	2,000	2,000	2,000	2,000	2,000
151.	Maintenance of a place for								
	repairing refrigerators	250	500	750	1,000	1,250	1,500	1,500	1,500
152.	Storing desicated coconut and								
	Maintenance of a coconut mill	1,000	2,000	3,000	3,000	3,000	3,000	3,000	3,000
	Freezing prawns for export	500	1,000	1,500	1,500	1,500	1,500	1,500	1,500
	Maintenance of a candle factory	1,000	1,500	2,000	2,500	3,000	3,500	4,000	5,000
	Maintenance of ice-cream corn	500	1,000	2,000	2,000	2,000	2,000	2,000	2,000
156.	Maintenance of a place for	500	750	1 000	1 000	1.500	2,000	2.500	2 000
157	repairing boats	500	750 500	1,000	1,000	1,500	2,000	2,500	3,000
	Repairing boat engines	250	500 750	750	1,000	1,500	2,000	2,000	2,000
	Production of cool drinks Storing solt avacading the quantity	500	750	1,250	1,500	1,750	2,000	3,000	4,000
139.	Storing salt exceeding the quantity of 10 hundredweight	150	350	350	350	350	500	500	500
160.	Storing potatos exceeding the								
	quantity of 10 hundredweight	150	350	350	350	350	500	500	500
161.	Production of cane items	150	350	350	350	350	500	500	500
162.	Sale of ice-cream	500	750	750	750	750	750	1,000	1,000
163.	Storing onions exceeding the quanti	-							
	of 5 hundredweight	125	200	200	200	200	200	200	300
164.	Mannual or computerized fabric	•	2.50	400	450	- 00	- 00	- 00	- 00
	printing	300	350	400	450	500	500	500	500
	Pastry and short-eats shop	500	500	750	1,000	1,500	2,000	2,500	3,000
166.	Servising three-wheelers or	500	550	700	1.000	1.250	1.500	2 000	2.000
1.07	Motor cycles	500	550	700	1,000	1,250	1,500	2,000	3,000
	Retail of chilly, grains, spices	300	350	400	450	500	500	500	500
	Bending spring blade	300	350	400	450	500	500	500	500
	Repairing injectors	500	600	700	800	900	1,000	1,000	1,000
	Export of fish	1,000	1,500	2,000	2,500	3,000	3,500	4,000	5,000
	Gas filling station	3,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Prepairing roasted chicken	500	500	600 500	600 750	600	700	900	1,000
	Maintenance of a iron grill worksho		500 750	500	750	1,000	1,250	1,500	2,000
	Maintenance of a hardwear	750 500	750 600	1,000 700	1,000	1,250 900	2,000	2,500	3,000
	Auto electrical workshop Maintenance of a place for	500	600	/00	800	900	1,000	1,000	1,000
	repairing air conditioners	500	750	1,000	1,250	1,500	1,750	2,000	2,500

	Pait IV (b) - GAZETTE O	r ine be	EMOCKATIC	SOCIALIS	1 KEFUBLIC	OF SKI LA	NKA - 01.04	1.2010	
	Annual Value Nature of the Business Licence	Upto Rs. 5,000	From Rs. 5,001	From Rs. 7,501	From Rs. 10,001	From Rs. 20,001	From Rs. 30,001	From Rs. 40,001	Over Rs. 50,000
			upto	upto	upto	upto	upto	upto	
		Rs.	Rs. 7,500 Rs.	Rs. 10,000 Rs.	Rs. 20,000 Rs.	Rs. 30,000 Rs.	Rs. 40,000 Rs.	Rs. 50,000 Rs.	Rs.
		115.	No.	115.	115.	115.	70.	Tto.	115.
177	Production of polythene	500	750	1,000	2,000	2,500	3,000	3,000	3,000
	Maintenance of a place for	200	750	1,000	2,000	2,300	2,000	5,000	2,000
1,01	reboring vehicle engines	500	750	1,000	2,000	2,000	2,000	5,000	5,000
179.	Maintenance of a fish stall	100	200	250	300	350	500	500	500
	Maintenance of a place for the								
	production of dried fish	500	500	500	500	750	1,000	1,500	2,000
181.	Maintenance of a place for collecting	Ţ					ŕ	,	,
	prawns and crabs	500	750	750	750	1,000	1,500	2,000	3,000
182.	Maintenance of a place for sale of								
	prawns and crabs	500	750	750	750	1,000	1,500	2,000	3,000
183.	Maintenance of a prawn farm	500	600	700	800	850	900	950	1,000
184.	Production of Beedi	100	150	200	250	300	350	500	1,000
185.	Maintenance of a place for								
	making stone monuments	500	600	700	800	900	1,000	1,500	2,000
	Production of Aluminium items	250	500	650	750	850	900	1,000	2,000
187.	Maintenance of a concrete workshop	p 500	750	1,000	1,000	1,000	1,000	1,000	1,000
188.	Maintenance of a toddy tavern	1,000	2,000	2,000	2,000	2,250	2,250	2,500	3,000
189.	Maintenance of a place for sale								
	of chicks (More than 100)	200	300	350	400	450	500	500	500
	Maintenance of a Batik workshop	750	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Production of perfumes	150	300	750	750	750	750	750	750
192.	Maintenance of a place for								
	making plastic name boards and	• • • •	•••	•••	•	•••	2.50	2.50	2.50
100	rubber seals	200	300	300	300	300	350	350	350
	Production of wood bobbins	500	500	500	500	500	500	500	500
	Maintenance of a coir mill	500	500	1,000	1,000	1,000	1,000	1,000	1,000
193.	Maintenance of a place for	100	200	500	500	500	500	500	500
106	polishing gold and silver items Packeting cool drinks	100	150	200	250	300	350	350	350
	Production of rubberized mattress	500	600	700	800	1,000	2,000	3,000	5,000
	Sale of ornamental fish	500	500	750	750	750	750	750	750
	Maintenance of a carpenter shop	250	250	250	250	250	350	350	350
	Storing sea oysters or sea beeches	230	230	230	230	250	330	330	330
200.	for exporters	750	1,000	1,000	1,250	1,500	1,750	2,000	2,500
201.	Maintenance of a place for	750	1,000	1,000	1,230	1,500	1,750	2,000	2,500
	tinkering vehicles	500	500	500	750	1,000	1,000	1,000	1,000
202.	Maintenance of a silencer workshop		500	750	1,000	1,000	1,000	1,000	1,000
	Renting Generators	200	500	500	500	500	500	500	500
	Slaughter and sale of poultry	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Mechanized peeling of groundnuts	250	250	300	350	400	450	500	500
206.	Production of plastic items	1,000	1,000	1,000	1,000	1,500	2,000	2,500	3,000
207.	Handloom or wool knitting centre	500	750	1,000	1,250	1,500	1,750	2,000	3,000
208.	Sale of bakery foods	500	600	700	800	900	1,000	1,000	1,000
209.	Fibre glass production	1,500	1,500	2,000	2,500	3,000	3,500	4,000	5,000
210.	Product of toddy bottles	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Wall Molding work	250	500	750	1,000	1,250	1,500	1,500	1,500
	Production of Noodles	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000
213.	Household instrument sales and							, -	
	fixing	1,000	1,500	2,000	2,500	3,000	3,500	4,000	5,000
	Vehicle smoke checking centre	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Manufacturing of lamp shades	500	1,000	1,250	1,500	2,000	2,500	3,000	5,000
	Screen printing	500	1,000	1,250	1,500	2,000	2,500	3,000	5,000
	Water pumps repairing	250	350	550	750	1,000	1,250	1,500	2,000
	Youghurt manufacturing	1,000	1,000	1,500	2,000	2,500	3,000	3,500	5,000
219.	Piggary	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000

	Annual Value Nature of the Business Licence	Upto Rs. 5,000 Rs.	From Rs. 5,001 upto Rs. 7,500 Rs.	From Rs. 7,501 upto Rs. 10,000 Rs.	From Rs. 10,001 upto Rs. 20,000 Rs.	From Rs. 20,001 upto Rs. 30,000 Rs.	From Rs. 30,001 upto Rs. 40,000 Rs.	From Rs. 40,001 upto Rs. 50,000 Rs.	Over Rs. 50,000
01.	Maintenance of a place for framing photos	150	200	200	200	250	300	300	300
02.	Maintenance of a place for storing toys for business	150	250	350	450	500	750	1,000	1,000
03.	Maintenance of an institution for private education (except	500	750	1,000	1,500	2,000	2,500	3,500	5,000
04.	nursery schools) Maintenance of a place for	200		•	,		750		750
05.	instant photocopying Maintenance of a place for selling		300	400	500	500		750	
06.	and storing spectacles Maintenance of a place for sale	1,000	2,000	2,000	2,000	2,000	2,000	2,000	3,000
07.	of ice Maintenance of a place for storing	150	500	500	500	750	750	750	750
08.	vinegar more than 60g Maintenance of a place for storing boxes of matches with more than	100	300	300	300	300	300	300	300
09.	50 gross Maintenance of a place for storing	100	300	300	300	300	300	300	300
	new metal items (except iron) Maintenance of a place for	250	600	600	600	600	600	600	600
	storing soaps as stocks Maintenance of a place for	250	600	600	750	750	750	750	750
12	repairing water-pumps and other machineries Maintenance of a place for	300	500	500	500	500	750	750	750
	repairing radios Maintenance of a place for	250	750	750	750	750	750	750	750
	vulcanising tyres, tubes Maintenance of a place for	150	500	500	500	750	750	1,000	1,000
	Storing poonac Maintenance of a place for	100	200	300	300	300	300	300	300
	storing and wholesale of Beeds	200 200	500 500	500 500	500 500	500 500	500 500	500 500	500 500
	Maintenance of a Batik shop Maintenance of Jewellery, Gem								
18.	and Diomond shop Maintenance of a place for	3,000	3,000	3,500	3,500	3,500	3,500	5,000	5,000
	storing or sale of haberdashery Dental	250 1,000	350 2,000	400 2,000	500 2,000	600 2,000	700 2,500	800 2,500	1,000 2,500
	Maintenance of a place for storing or sale of building material Maintenance of a place for	500	750	1,000	1,250	1,500	1,750	2,000	2,500
21.	storing sewing - machines for sale	750	1,000	1,500	2,000	2,500	3,000	3,500	4,000
	Maintenance of a place for sale of motor vehicles	1,000	3,000	3,500	4,000	4,000	4,000	5,000	5,000
	Maintenance of a place for storing/selling spare parts for bicycles	200	300	400	500	750	1,000	1,000	1,000
24.	Maintenance of a place for reception hall other than	500	1 000	2 000	2,000	2.000	2 000	2 000	4 000
25.	religious activities Maintenance of a finance or leasing company	500 2,000	1,000 3,000	2,000 5,000	2,000 5,000	2,000 5,000	2,000 5,000	3,000 5,000	4,000 5,000
	icusing company	2,000	5,000	5,000	5,000	2,000	5,000	2,000	5,000

Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto Rs. 7,500	Annual value from Rs. 7,501 upto Rs. 10,000	Annual value from Rs. 10,001 upto Rs. 20,000	Annual value from Rs. 20,001 upto Rs. 30,000	Annual value from Rs. 30,001 upto Rs. 40,000	Rs. 40,001 upto Rs. 50,000	Annual value over Rs. 50,000
	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.
26. Maintenance of a finance	2 000	2.000	5 000	5,000	5,000	5,000	5 000	5.000
company	2,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
27. Maintenance of a Bank28. Maintenance of a insrurance	2,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
institution	2,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
29. Maintenance of a record bar	250	500	750	1,000	1,000	1,000	1,000	1,000
30. Maintenance of a place for sale	500	750	750	750	750	1,000	1,000	1,000
of fancy items and handicraft	300	750	750	750	730	1,000	1,000	1,000
31. Maintenance of a place for	1,000	3,000	5,000	5,000	5,000	5,000	5,000	5,000
wholesale of shop items	-,	-,	-,	-,	-,	-,	-,	-,
32. Maintenance of a place for	500	1,000	1,500	1,500	1,500	1,500	1,500	1,500
storing or sale of antique								
furniture and equipment								
33. Maintenance of a place for	1,000	2,000	2,000	2,000	2,000	2,250	2,500	3,000
storing textile and sale of textile								
at retail price								
34. Maintenance of a hardware shop	1,000	1,000	2,000	2,000	2,000	2,250	5,000	3,000
35. Maintenance of a place for sale	250	500	750	1,000	1,000	1,000	1,000	1,500
of aluminium or brass items	100	200	500	500	500	500	500	500
36. Maintenance of a place for sale of religious images	100	200	300	300	300	300	300	300
37. Maintenance of a place for	100	200	500	500	750	1,000	1,250	1,500
storing or sale of seashells	100	200	300	300	730	1,000	1,230	1,500
38. Maintenance of a place for	1,500	1,750	2,000	2,500	3,000	3,000	3,000	3,000
storing or sale of glass	-,	-,	_,	_,	-,	-,	-,	-,
39. Mechanized fitting of lamp	100	200	500	500	500	500	500	500
chimneys								
40. Maintenance of a place for	200	300	400	500	750	1,000	1,200	1,500
sale of threads and buttons								
41. Maintenance of a place	100	150	300	300	300	300	300	300
for chimney decoration								
42. Maintenance of a place for cutting	100	150	300	350	400	450	500	500
papers								
43. Maintenance of a place for	200	300	300	300	300	300	300	300
watch repair								
44. Maintenance of a place for	1,000	2,000	3,000	3,000	3,000	3,000	3,000	3,000
storing and wholesale of textile								
45. Maintenance of a place for	200	250	300	350	500	1,000	1,250	1,500
storing books, stationery for sale								
46. Maintenance of a place for	1,000	1,500	2,000	2,000	2,000	2,250	2,500	3,000
driving instituion								
47. Renting festive items	750	1,000	1,000	1,000	1,000	1,000	1,250	1,500
48. Maintenance of a place for	200	300	400	500	750	1,000	1,250	1,500
retail sale of shop items								
49. Storing fishing implement	500	1,000	1,000	1,000	1,000	1,000	1,000	1,000
(except fishing nets)								
50. Maintenance of a place for	1,000	2,000	3,000	3,000	3,000	3,000	3250	3,500
manufacturing and sale of electrical								
appliances	4.00-							
51. Maintenance of a foreign	1,000	1,500	2,000	2,500	3,000	4,000	5,000	5,000
employment agency	150	500	1 000	1.000	1 000	1 250	1.050	1.250
52. Maintenance of a place for dress making	150	500	1,000	1,000	1,000	1,250	1,250	1,250
uiess making								

	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto Rs. 7,500 Rs.	Annual value from Rs. 7,501 upto Rs. 10,000 Rs.	Annual value from Rs. 10,001 upto Rs. 20,000 Rs.	Annual value from Rs. 20,001 upto Rs. 30,000 Rs.	Annual value from Rs. 30,001 upto Rs. 40,000 Rs.		Annual value over Rs. 50,000 Rs.
52	Maintanaga of a mlaga for sala	150	250	500					2,000
33.	Maintenace of a place for sale of spare parts and equipment for boats	130	230	300	750	1,000	1,250	1,500	2,000
54.	Maintenance of a place for renting or sale of video cassettes	300	500	1,000	1,000	1,000	1,000	1,000	1,000
55.	Maintenance of a place for sale of rexine	250	500	750	1,000	1,250	1,500	2,000	2,000
56.	Maintenance of place for storing domestic exports	250	500	1,000	1,100	1,200	1,500	1,500	1,500
57.	Maintenance of a medical laboratory	500	1,000	1,000	1,250	1,250	1,500	1,500	2,000
58.	Maintenance of gram stall	300	400	400	400	450	500	600	750
59.	Maintenance of a place for renting bicycles and motorcycles	300	500	750	750	750	1,000	1,000	1,000
60.	Maintenance of a place for collecting and sale of eggs	150	150	300	300	300	500	500	500
61.	Maintenance of a place for sale of motorcycles	1,000	1,000	1,000	1,000	1,500	2,000	2,500	3,000
62.	Maintenance of a business place for shoe repair	150	300	300	300	300	300	300	300
63.	Maintenance of a place for storing and wholesale of cool drinks	2,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
64.	Maintenance of a place for polishing frame of spectacles	750	1,000	1,000	1,000	1,250	1,250	1,250	1,500
65.	Maintenance of a place for sale of motorcycle spare parts	250	500	750	1,000	1,250	1,500	2,000	2,000
66.	Maintenance of a place for storing and replacing new								
67.	tires and tubes Maintenance of a place for	500	500	500	500	500	500	750	750
	sale of flowering plants Maintenance of a place for	200	300	400	500	600	700	800	1,000
	Computer Services	150	200	350	500	750	1,000	1,250	1,500
69.	Maintenance of a place for storing coconut exceeding the quantity of 100	750	1,000	1,000	1,000	1,000	1,000	1,000	1,000
70.	Maintenance of a place for sale of bicycles	500	750	1,000	1,000	1,000	1,000	1,000	1,000
71.	Maintenance of a place for telex, telephone service (Communication centre)	500	750	1,000	1,250	1,500	1,750	2,000	2,500
72.	Maintenance of a place for buying old Jewelleries	500	1,000	1,000	1,000	1,000	1,200	1,250	1,250
73.	Maintenance of a place for repairing electrical appliances except refrigerators	500	1,000	1,000	1,000	1,000	1,000	1,000	1,000
74.	Maintenance of a place for storing/selling coir items	100	150	300	300	300	300	300	300
75.	Maintenance of a place for ready-made garments	200	300	500	750	1,000	1,250	1,500	1,500
76.	Maintenance of a place for sale of cassettes	200	250	300	350	400	450	500	500
77.	Maintenance of a place for sale of air tickets and ticketing agency	200	1,000	2,000	2,150	2,250	2,500	3,000	3,000

	Tutti (B) GREETTE	or the br	20100101110	o boen ibio	T KEI OBEI	C OI SKI LI	01.0	1.2010	
	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto Rs. 7,500 Rs.	Annual value from Rs. 7,501 upto Rs. 10,000 Rs.	Annual value from Rs. 10,001 upto Rs. 20,000 Rs.	Annual value from Rs. 20,001 upto Rs. 30,000 Rs.	Annual value from Rs. 30,001 upto Rs. 40,000 Rs.		Annual value over Rs. 50,000
78.	Maintenance of a place for brake lining/wheel alignment and repairing clutch plates	250	500	600	750	750	750	1,000	1,000
70	Maintenance of a place for sale of								
	boats and boat engines	2,000	4,000	4,000	4,000	5,000	5,000	5,000	5,000
	Maintenance of a place for sale of watches	250	500	600	600	750	750	750	750
81.	Maintenance of a place for machine cut workshop	500	750	1,000	1,000	1,250	1,500	1,500	1,500
82.	Maintenance of a place for clearing vehicles except vehicle								
83	service station Maintenance of a gold	500	750	750	750	750	1,000	1,000	1,000
05.	pounding place for making								
0.4	Jewelleries	250	350	450	550	650	750	850	1,000
84.	Maintenance of a place for sale of radio and television spare parts	250	500	750	1,000	1,200	1,300	1,400	1,500
85.	Maintenance of a place for printing and eniavgement of								
86.	colour/black and white films Maintenance of flower/artificial	1,000	1,500	2,000	2,250	2,500	2,500	2,500	2,500
	flower stall	250	350	500	750	1,000	1,250	1,500	2,000
87.	Maintenance of a place for Video recording	250	550	750	850	1,000	1,250	1,500	1,500
88	Maintenance of a place for sale	230	330	750	050	1,000	1,230	1,500	1,500
	of three-wheeler spare parts Maintenance of a place for	250	500	750	850	1,000	1,250	1,500	1,500
	key cutting	200	300	300	350	350	400	450	500
90.	Maintenance of a place for sale of equipment and tools used for								
91.	making gold Maintenance of a place for	200	300	350	500	600	750	850	1,000
	protecting bicycles Maintenance of a electricity	200	300	450	500	600	750	850	1,000
	supplying private Institute	3,000	4,000	5,000	5,000	5,000	5,000	5,000	5,000
93.	Maintenance of a place for sale of mobile-phones	500	750	1,000	1,500	1,750	2,000	2,000	2,000
94.	Maintenance of a place for	200	1.500	2 000	2.250	2.500	2.750	2 000	2.500
95.	storing new/old motor spare Maintenance of a place for sale	300	1,500	2,000	2,250	2,500	2,750	3,000	3,500
96.	of make up sets Maintenance of a place for sale	200	250	300	350	400	450	500	500
97.	of cushion cloths Maintenance of a place for sale	500	550	600	650	700	750	850	1,000
	of batteries	200	250	300	350	500	500	500	500
	Maintenance of a place for advertising agency Maintenance of a place for	500	600	700	800	800	1,000	1,000	2,000
	sale of musical instrument	200	300	400	500	500	500	500	500
	Maintenance of a place for repairing cassettes Maintenance of a place for sale	200	250	300	350	400	450	500	500
	of vehicle glasses	500	750	1,000	1,250	1,500	1,500	1,500	1,500
102.	Maintenance of a place for sale of vehicle cassette radios	100	200	300	400	500	500	500	500

	Nature of the Business	Annual value upto Rs. 5,000	Annual value from Rs. 5,001 upto Rs. 7,500	Annual value from Rs. 7,501 upto Rs. 10,000	Annual value from Rs. 10,001 upto Rs. 20,000	Annual value from Rs. 20,001 upto Rs. 30,000	Annual value from Rs. 30,001 upto Rs. 40,000		Annual value over Rs. 50,000
		Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.
103.	Maintenance of a place for								
	renting motorcycles and cars	250	400	500	750	1,000	1,500	1,750	2,000
104.	Maintenance of a place for cut piec		200	300	500	750	1,000	1,200	1,500
	Maintenance of a place for storing and sale of leather material for the								
	production of leather items	100	200	300	500	500	500	500	500
106.	Maintenance of a place for sale								
	of old vehicles	500	750	1,000	1,250	1,500	1,750	2,000	2,500
107.	Maintenance of a place for sale of fishing implements								
	(including nets)	200	300	400	500	600	700	800	1,000
108.	Maintenance of a place for	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000
	parking vehicles								
109.	Maintenance of a place for	(Rs	. 250 per da	y for 3 days	s and Rs. 2,0	000 for each o	lay exceedin	g up to 30	days and
	show-room and sales outlet			onth exceed	ding)				
	Storing and sale of plasticware	750	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Repairing and renting machineries	250	500	750	1,000	1,250	1,500	2,000	3,000
	Repairing mobile-phones	250	500	750	1,000	1,000	1,200	1,250	1,500
113.	Computer, Equipment repair								
	and sale of equipment/printing	500	750	1,000	1,250	1,750	2,000	2,000	2,000
	Place for Writing banners	100	200	300	400	500	600	700	1,000
	Computer sales centre	1,000	2,000	3,000	5,000	5,000	5,000	5,000	5,000
	Storing or sale of tea-leaves	100	200	500	500	500	500	500	500
	Maintenance of a place for sale of electric bulbs and accessories	100	200	500	750	1,000	1,500	2,000	3,000
	Sale of sports equipments	100	200	300	350	400	500	750	1,000
	Sale of Curtains	100	200	300	400	500	750	1,000	2,000
	Sale of solar-power electricity generating machines	500	750	1,000	1,000	1,000	2000	3,000	4,000
	Sale of granites	100	200	250	300	350	400	450	500
	Storage of bricks, laterite or granite		500	1,000	1,000	1,000	1,000	1,000	1,000
	Maintenance of a steel furniture sh	-	750 250	1,000	1,000	2,000	2,500	3,000	4,000
	Storing empty gunny bags or fire-woods	150	250	250	250	300	400	500	500
	Maintenance of a place for renting vehicles	250	300	350	400	500	700	1,000	1,000
	Maintenance of a physical fitness centre	100	200	300	400	500	750	1,000	2,000
	Maintenance of a place for massage clinics	500	1,000	1,500	2,000	2,500	3,000	4,000	5,000
	Storage/sale of furniture	500	1,000	2,000	2,000	2,500	3,000	4,000	5,000
	Computer training institute	500	1,000	1,500	2,000	2,500	3,000	4,000	5,000
	Sale of antennas	250	500	750	1,000	1,500	2,000	2,500	3,000
	Sale of television, radio spare parts		750 250	1,000	1,200	1,500	2,000	2,500	3,000
	Storage of hay and dry plants	100	250	250	250	250	250	250	250
	Sale of mobile phone spare parts	500	750	1,000	1,200	1,500	2,000	2,500	3,000
	Sale of sanitary equipment Sale of motor boat spare parts	1,000 500	1,500 1,000	2,000	2,500	3,000 2,000	4,000	5,000	5,000 5,000
	Sale of motor boat spare parts Sale of agricultural implement	200	1,000	1,500	1,750	۷,000	3,000	4,000	3,000
	and assembling parts or repair	1,000	1,500	2,000	2,500	3,000	4,000	5,000	5,000
137.	Storage/sale of rubberized	250	500	600	700	750	750	750	1,000
138.	mattresses Maintenance of a place for repairing, sale, renting of	230	300	OUU	/00	730	730	750	1,000
	heavy vehicles and machineries	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000

	Pait IV (B) - GAZETTE (JF I TE DI	EMOCKATIC	SOCIALIS	I KEPUBLI	OF SKI LA	NKA - 01.0	+.2010	
		Annual	Annual	Annual	Annual	Annual	Annual	Annual	Annual
	Nature of the Business	value upto	value from	value from	value from	value from	value from	value from	
		Rs. 5,000	Rs. 5,001	Rs. 7,501	Rs. 10,001	Rs. 20,001	Rs. 30,001		Rs. 50,000
			upto Rs. 7,500	upto Rs. 10,000	upto Rs. 20,000	upto Rs. 30,000	upto Rs. 40,000	upto Rs. 50,000	
		Rs.	Rs. 7,500	Rs. 10,000	Rs. 20,000	Rs. 30,000	Rs. 40,000	Rs. 30,000	Rs.
139.	Maintenance of a Bookie	1,000	2,000	3,000	3,000	3,000	3,000	3,000	3,000
	Race-by-race	1,000	2,000	3,000	4,000	5,000	5,000	5,000	5,000
	Maintenance of a place for	1,000	2,000	3,000	1,000	2,000	2,000	5,000	2,000
1	water selling project or company	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
142	Sale of communication	5,000	5,000	2,000	2,000	2,000	2,000	5,000	3,000
172.	equipment and parts	500	600	700	800	900	1,000	1,000	1,000
143	Storage and sale of barbed wire,	500	000	700	000	700	1,000	1,000	1,000
1 10.	plastics or wire mesh	250	500	750	1,000	1,250	1,500	1,750	2.000
144	Digital printing	250	500	750	1,000	1,250	1,500	1,750	2,000
	Maintenance of a place for	200	200	,,,,	1,000	1,200	1,000	1,700	2,000
1 10.	mini-golf course	250	500	750	1,000	1,250	1,500	1,750	2,000
146.	Maintenance of a place for	250	500	750	1,000	1,230	1,500	1,750	2,000
1.01	video games	250	500	750	1'000	1,250	1,500	1,750	2,000
147.	Maintenance of a place for	200	200	,,,	1 000	1,200	1,000	1,700	2,000
1 . , ,	sale of leaf-springs	250	500	750	1,000	1,250	1,500	1,750	2,000
148	Storage and sale of earthenware	100	300	300	300	300	750	750	750
	Import of Tractors	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Maintenance of a place for	5,000	3,000	3,000	5,000	3,000	3,000	5,000	3,000
150.	cable Television Service	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
151	Camera repair, sale of	3,000	3,000	3,000	3,000	3,000	3,000	3,000	3,000
131.		250	500	750	1,000	1,250	1,500	1,500	1,500
150	camera spare parts						*	,	
	Maintenance of a place for billiards	300	750	1,000	1,250	1,500	2,000	2,000	2,000
133.	Maintenance of a place for	5 000	5 000	5 000	<i>5</i> ,000	5,000	5,000	5 000	5 000
154	textile showroom	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Storage or sale of fibreglass items	750	1,000	1,000	1,000	1,000	1,000	1,000	1,000
	Storage or sale of cane items	250	500	500	500	500	500	500	500
156.	Repairing or sale of radios and			4 000		• • • •	• 000	• 000	• 000
	televisions	500	750	1,000	1,500	2,000	2,000	2,000	2,000
	Sale of ceramics	500	750	1,000	1,250	1,500	2,000	2,000	2,000
158.	Maintenance of a place for bridal								
	dressing, festive decorations,								
	church decorations	250	500	750	1,000	1,250	1,500	1,750	2,000
159.	Storage of used tyres, tubes								
	exceeding the quantity of 25	200	200	300	300	300	300	300	300
	Place for sale of welded goods	250	500	750	1,000	1,250	1,500	1,500	1,500
	Sale of shoes	250	500	750	1,000	1,250	2,000	3,000	4,000
162.	Amano Sheets Sales Centre	500	1,000	1,500	2,000	2,500	3,000	4,000	5,000
163.	Photography equipment sales centr	e 500	750	1,000	1,500	2,000	2,000	2,000	2,000
164.	Gymnasium Sales Centre	500	750	1,000	1,500	2,000	2,000	2,000	2,000
165.	Vehicle modifying Centre	500	750	1,000	1,500	2,000	2,000	2,000	2,000
	Cement bricks Sales Centre	500	750	1,000	1,500	2,000	2,000	2,000	2,000
	Fibre glass raw material Sales Centr	e 500	750	1,000	1,500	2,000	2,000	2,000	2,000
	Tractor Sales Centre	5,000	5,000	5,000	5,000	5,000	5,000	5,000	5,000
	Bags selling	500	750	1,000	1,500	2,000	2,000	2,000	2,000
	Cards selling	250	500	750	1,000	1,000	1,000	1,000	1,000
	Air conditionering equipment				,	.,	-,	,	-,
_,	selling	500	750	1,000	1,500	2,000	2,000	2,000	2,000
172	Plythene bags selling	500	750	1,000	1,500	2,000	2,000	2,000	2,000
	Scientific instruments selling	250	500	750	1,000	1,000	1,000	1,000	1,000
	Selling leather manufacturing goods		500	1,000	1,000	1,000	1,000	1,000	1,000
	Selling cardboard boxes	500	500	1,000	1,000	1,500	1,500	2,000	2,000
	Perfume selling	500	500	1,000	1,000	1,500	1,500	2,000	2,000
	Selling Aluminium gates parts	1,000	1,500	2,000	2,500	3,000	3,000	3,000	3,000
1//.	Seming Anuminum gates parts	1,000	1,500	2,000	2,500	3,000	3,000	5,000	5,000

Taxes on Business and professions under Section 247(C)(1)

	Receipt of previous year over Rs. 6,000 but not exceeding Rs. 12,000 Rs.	Receipt of previous year over Rs. 12,000 but not exceeding Rs. 18,750 Rs.	Receipt of previous year over Rs. 18,750 but not exceeding Rs. 75,000 Rs.	Receipt of previous year over Rs. 75,000 but not exceeding Rs. 150,000 Rs.	Receipt of previous year exceeding Rs. 150,000
01. Acting as a Notary Public	90	180	360	1,200	3,000
02. Acting as a Lawyer	90	180	360	1,200	3,000
03. Acting as a Western Medical Officer	90	180	360	1,200	3,000
04. Acting as an indigenous Medical Practitioner	90	180	360	1,200	3,000
05. Acting as a Private Engineer	90	180	360	1,200	3,000
06. Acting as a pawn broker	90	180	360	1,200	3,000
07. Acting as a money lender	90	180	360	1,200	3,000
08. Acting as a legal advisor in income tax or Labour	90	180	360	1,200	3,000
09. Acting as auctioneers and brokers	90	180	360	1,200	3,000
10. Acting as a Public Surveyor	90	180	360	1,200	3,000
11. Acting as an auditor (Private)	90	180	360	1,200	3,000
12. Acting as an architect	90	180	360	1,200	3,000
13. Acting as an owner or an agent of a transport service	90	180	360	1,200	3,000
14. Acting as contractors	90	180	360	1,200	3,000
15. Acting as a lottery agent	90	180	360	1,200	3,000
16. Acting as an agent or a owner of rented Cars or Vans	90	180	360	1,200	3,000
17. Acting as a Private Supplier	90	180	360	1,200	3,000
18. Acting as a Private dentist	90	180	360	1,200	3,000
19. Acting as a commission agent	90	180	360	1,200	3,000
20. Private bus or Van hirer	90	180	360	1,200	3,000
21. Organizing pilgrimage and trips	90	180	360	1,200	3,000
22. 1% of proceeds of sale of lands	90	180	380	1,200	3,000
23. Foreign currency exchanger	90	180	380	1,200	3,000

NEW SCALES OF CHARGES FOR NOTICES AND ADVERTISEMENTS IN THE "GAZETTE OF THE DEMOCRATIC SOCIALIST REPUBLIC OF SRI LANKA" EFFECTIVE AS FROM JANUARY 01, 2009

(Issued every Friday)

- 1. All Notices and Advertisements are published at the risk of the Advertisers.
- 2. All Notices and Advertisements by Private Advertisers may be handed in or sent direct by post together with full payments to the Government Printer, Department of Government Printing, Colombo 8.
- 3. The office hours are from 8.30 a.m. to 4.15 p.m.
- 4. Cash transactions will be from 9.00 a.m. to 3.00 p.m.
- All Notices and Advertisements must be pre-paid. Notices and Advertisements sent direct by post should be accompanied by Money Order, Postal Order or Cheque made payable to the Government Printer. Postage stamps will not be accepted in payment of Advertisements.
- 6. To avoid errors and delay "copy" should be on one side of the paper only and typewritten.
- 7. All signatures should be repeated in block letters below the written signature.
- 8. Notices re-change of name from Non-Government Servants and Trade Advertisements are not accepted for publication.
- 9. Advertisements purporting to be issued under Orders of Courts will not be inserted unless signed or attested by a Proctor of the Supreme Court
- 10. The authorised scale of charges for Notices and Advertisements is as follows from January 01, 2009:-

		Rs.	cts.	
One inch or less	 	 137	00	
Every addition inch or fraction thereof	 	 137	00	
One column or 1/2 page of Gazette	 	 1,300	00	
Two columns or one page of Gazette	 	 2.600	0.0	

(All fractions of an inch will be charged for at the full inch rate.)

- 11. The "Gazette of the Democratic Socialist Republic of Sri Lanka" is published every Friday. Day of publication is subject to alteration in any week where Public Holidays intervene.
- 12. All Notices and Advertisements should reach the **Government Printer, Department of Government Printing, Colombo 8**, as shown in Schedule of Separate Notice published at the end of each part of the *Gazette* of the first week of every month.
- 13. REVISED SUBSCRIPTION RATES EFFECTIVE FROM JANUARY 1ST 2009:

*Annual Subscription Rates and Postage

						Pri	ce	Postage
						Rs.	cts.	Rs. cts.
Part I:								
Section I	•••	•••				2,080	00	3,120 00
Section II	(Advertising,	Vacancies,	Tenders,	Examinations,	etc.)	1,300	00	3,120 00
Section III		•••				780	00	3,120 00
Part I (Whole	of 3 Section	s together)				4,160	00	6,240 00
Part II		•••				580	00	3,120 00
Part III		•••				405	00	3,120 00
Part IV (Notic	es of Provinc	cial Councils	and Loca	al Government	t)	890	00	2,400 00
Part V						860	00	420 00
Part VI						260	00	180 00
Extraordinary	Gazette	•••				5,145	00	5,520 00

Subscription to the "Gazette of the Democratic Socialist Republic of Sri Lanka" are booked per periods of not less than 12 months so as to terminate at the end of a calendar year only.

* Rates for Single Copies (if available in stock)

					Price Rs. cts.	Postage Rs. cts.
Part I:					1101 0101	1151 0151
Section I					40 00	60 00
Section II					25 00	60 00
Section III					15 00	60 00
Part I (Whole of	f 3 Sections	together)			80 00	120 00
Part II					12 00	60 00
Part III					12 00	60 00
Part IV (Notice	s of Provinc	ial Councils and	Local Gov	ernment)	23 00	60 00
Part V					123 00	60 00
Part VI					87 00	60 00

*All remittances should be made in favour of the Superintendent, Government Publications Bureau, No. 132, Maya Avenue, Kirulapone, Colombo 05, who is responsible for booking subscriptions and for sale of single copies.

IMPORTANT NOTICE REGARDING PUBLICATION OF GAZETTE

THE Weekly issue of the *Gazette of the Democratic Socialist Republic of Sri Lanka* is normally published on Fridays. If a Friday happens to be a Public Holiday the *Gazette* is published on the working day immediately preceding the Friday. Thus the last date specified for the receipt of notices for publication in the *Gazette* also varies depending on the incidence of public holidays in the week concerned.

The Schedule below shows the date of publication and the latest time by which notices should be received for publication in the respective weekly *Gazette*. All notices received out of times specified below will not be published. Such notices will be returned to the sender by post for necessary amendment and return if publication is desired in a subsequent issue of the *Gazette*. It will be in the interest of all concerned if those desirous of ensuring the timely publication of notices in the *Gazette* make it a point to see that sufficient time is allowed for postal transmission of notices to the Government Press.

The Government Printer does not accept payments of subscription for the Government Gazette. Payments should be made direct to the <u>Superintendent</u>, <u>Government Publications Bureau</u>, <u>No. 132</u>, <u>Maya Avenue</u>, <u>Kirulapone</u>, <u>Colombo 05</u>.

Note.—Payments for inserting Notices in the Gazette of the Democratic Socialist Republic of Sri Lanka will be received by the Government Printer and not by the Superintendent, Government Publications Bureau.

SCHEDULE

Date of Publication

				Acceptance of Notices for			
				Publication in the Gazette			
		2010					
APRIL	01.04.2010	Thursday	_	19.03.2010	Friday	12 noon	
	09.04.2010	Friday		26.03.2010	Friday	12 noon	
	16.04.2010	Friday		01.04.2010	Thursday	12 noon	
	23.04.2010	Friday		09.04.2010	Friday	12 noon	
	30.04.2010	Friday		16.04.2010	Friday	12 noon	
MAY	07.05.2010	Friday	_	23.04.2010	Friday	12 noon	
	14.05.2010	Friday		30.04.2010	Friday	12 noon	
	21.05.2010	Friday		07.05.2010	Friday	12 noon	
	26.05.2010	Wednesday		14.05.2010	Friday	12 noon	
JUNE	04.06.2010	Friday	_	21.05.2010	Friday	12 noon	
	11.06.2010	Friday		26.05.2010	Wednesda	y 12 noon	
	18.06.2010	Friday		04.06.2010	Friday	12 noon	
	24.06.2010	Thursday		11.06.2010	Friday	12 noon	

LAKSHMAN GOONEWARDENA, Government Printer.

Last Date and Time of

Department of Government Printing, Colombo 08, January 01, 2010.

Month